SIEMENS

SIMATIC

S7-300 S7-400
STL

2004 1

© 00 N oo o ~ W

10
11
12
13
14



> >

SIMATIC® SIMATIC HMI®

©2004

SIMATIC NET®

©2004







STL

STL
MS Windows 2000 Professional
MS Windows XP Professional PC
STEP 7 53
STL |[EC 1131-3 “ z

NORM_TBL.WRI



STEP 7 S7
STEP 7
““STEP 7 7z
STEP 7
STEP 7 STEP 7 | 6ES7810-4CA07-8BWO
e STEP7V5.3 S7-300/400
e STEP7V5.3
. STEP 7
V5.3
° S5 S7
STEP 7 6ES7810-4CA06-8BW1
U S7-300/400 LAD FBD STL STEP 7
LAD / FBD /
STL
e  S7-300/400
STEP 7 STEP 7
STEP 7
STL/LAD/FBD STEP 7
/ SFB /

SFC




Fl & 7
Help > Context-Sensitive Help

. Help > Contents ““Help on
STEP 77~ STEP 7
. ““Glossary 77 STEP 7

http://www.siemens.com/automation/partner

SIMATIC S7
D90327

+49 (911) 895-3200.
http://wwwv.sitrain.com

http://www.ad.siemens.com.cn/training

(010) 6439 2860

(021) 3220 0899 - 306
(020) 8732 0088 - 2279
(027) 8548 6688 - 6601
(0451) 239 3129

(023) 6382 8919 - 3002



A&D

24 365

+49 (0) 180 5050-222

+49 (0) 180 5050-223
E-Mail:
adsupport@siemens.com
GMT +1:00

/

08:00:00 - 17:00
+49 (0) 180 5050-222
+49 (0) 180 5050-223
E-Mail:
adsupport@siemens.com
GMT +1:00

08:00:00- 17:00
+1 (0) 770 740 3505
+1 (0) 770 740 3699
E-Mail:isd-callcenter@sea.
siemens.com
GMT -5:00

8:30-17:30
+86 10 64 75 7575
+86 10 6474 7474
E-Mail:
adsupport.asia@siemens.com
GMT +8:00

SIMATIC

vi




http://www.siemens.com/automation/service &support (

http://www.ad.siemens.com.cn/service (

(010) 6471 9990
(0411) 369 9760
(021) 5879 5255
(020) 8732 3967
(028) 6820 0939

-40

vii



viii



................................................................................................................. ix
................................................................................................. 11
PP PPPUPN 11
12 A T s 1-3
13 AN S 1-4
14 O 1-5
15 ON « ST 1-6
16 X “* 7 e e 1-7
17 XN “ S P PPPPUP 1-8
18 (@) T e e e 1-9
19 AL 1-10
1.10 AN( “ s 1-11
111 O 7 1-11
112 ON( * e, 1-12
113 X( < PP PPPPN 1-12
114 XN( “ s 1-13
115 ) TSP P R UPPPPPRPPPPR 1-14
116 S e e e aaaa 1-15
117 R 1-16
118 S e 1-17
119 NOT RLO e 1-18
1.20 SET RLO e 1-18
121 CLR RLO S0 1-19
122 SAVE RLO BR 1-20
123 FN e 1-21
124 P 1-23
.................................................................................................... 2-1

2254 2-1
2.2 ?1 T 2-2
2.3 ?D B 2-3
2.4 ?R B 2-4
................................................................................................... 3-1

B 3-1
3.2 BTI BCD I 3-2
3.3 ITB 16 BCD i 3-3
3.4 BTD BCD 72 3-4



3.5 ITD 16 B2 3-5

3.6 DTB 32 BCD .o 3-6
3.7 DTR 32 32 IEEE-FP .. 3-7
3.8 INVI 16 3-8
3.9 INVD B 3-9
3.10 NEGI 16 3-10
3.1 NEGD B2 3-11
312 NEGR 32 [EEE-FP .o, 3-12
313 CAW 1 16 3-13
314 CAD 1 32 3-14
315 RN D 3-15
316 TRUN C e 3-16
3.17 RNDH 3-17
3.18 RND- 3-18
................................................................................................ 4-1

A L 4-1
4.2 F R 4-2
4.3 L L 4-3
4.4 LC BCD Lo 4-4
4.5 R 4-5
4.6 S s 4-6
4.7 CU s 4-7
4.8 D 4-8
................................................................................................. 5-1

L5 0 TSP 5-1
5.2 O PN e 5-2
5.3 CDB 5-3
5.4 L DBLG 1 5-3
5.5 L DBNO I 5-4
5.6 L DILG PP 5-4
5.7 L DINO L 5-5
.............................................................................................. 6-1

B, 6-1
6.2 JU 6-3
6.3 T 6-4
6.4 JC RLO = 1 6-5
6.5 JCN RLO =0 e 6-6
6.6 JCB RLO=1 BR 6-7
6.7 JNB RLO =0 BR 6-8
6.8 JBI BR = 1 s 6-9
6.9 JNBI BR = 0 6-10

6.10 JO OV = L 6-11



6.11
612
613
614
615
616
6.17
6.18
619

71
72
73
7.4
75
7.6
177
7.8
79
710
1
712

8.1
8.2
8.3

8.4

8.31
8.3.2
8.3.3
8.3.4
8.3.5

8.41
8.4.2
8.4.3
8.4.4
8.4.5
8.4.6
8.4.7
8.4.8
8.4.9
8.4.10

JOS OS =1 e, 6-12
JZ e 6-13
IN e 6-14
TP s 6-15
IM s 6-16
IPZ e, 6-17
IMZ e, 6-18
JUD e 6-19
LOOP e, 6-20
..................................................................................... 7-1
............................................................................ 71
........................................................ 72
+ 16 ) 1 2 ) 73
-l 16 ) 2 I e, 74
*| 16 ) 1 2 s 75
Il 16 ) 2 T e, 76
+ 16 32 e, 77
+D (32 ) 1 2 . 79
-D (32 ) 2 T e, 7-10
*D (32 ) 1 2, 711
/D (32 ) 2 T e, 712
MOD 32 e, 713
........................................................................................ 8-1
............................................................................ 8-1
........................................................ 8-2
.................................................................. 8-3
+R (32 IEEE-FP) 1 2 8-3
-R (32 IEEE-FP) 2 1 8-4
*R (32 IEEE-FP) 1 2 L 8-5
/R (32 IEEE-FP) 2 1 8-6
ABS 32 IEEE-FP o 8-7
.................................................................. 8-8
SQR 32 e, 8-8
SQRT B 8-9
EXP B 8-10
LN B 8-11
SIN B 8-12
cos 32 el 8-13
TAN B 8-14
ASIN B 8-15
ACOS B2 8-16
ATAN B 8-17

Xi



10

11

Xii

91
9.2
9.3
9.4
9.5
9.6
9.7
9.8
9.9
9.10
9.1
912
913
914
915
916

101
10.2
10.3
10.4
10.5
10.6
10.7
10.8
10.9
10.10
10.11
1012
1013
1014
1015
1016
10.17
1018
1019

111
111
1112
111.3

........................................................................................... 9-1
................................................................................ 9-1

L e 9-2
L STW L e 9-3
LARL 1 Lo 9-4
LARL <D> (32 ) oo, 9-5
LARL AR2 2 Lo 9-6
LAR2 1 7 X 9-6
LAR2 <D> (32 ) 2. 9-7
T e, 9-8
T STW L, 9-9
CAR 1 2 e, 9-10
TAR1 1 Lot 9-10
TAR1 <D> 1 (32 Yoo 9-11
TAR1 AR2 1 7 S 912
TAR2 2 Lot 912
TAR2 <D> 2 (32 Yeeeeeeeeeeeeenens 913
............................................................................................. 10-1
................................................................................. 10-1

BE e e 10-2
BEC e 10-3
BEU e 10-4
CALL oo 10-5
........................................................................................... 10-8
............................................................................................ 10-10
.................................................................................. 10-12
...................................................................................... 10-14
...................................................................................... 10-15
...................................................................................... 10-15

CC e, 10-16
UC et 10-17
MCR e, 10-18
MCR e 10-20
MCR( RLO MCR MCR et 10-21
JMCR IVICR ..ottt 10-23
MCRA MCR oo, 10-24
MCRD MCR oo, 10-25
.................................................................................... 11-1
.............................................................................................. 11-1
.................................................................................... 11-1

SSI 1 T SRR 11-2

SSD B 11-3



1114 SLW PPN 11-5

1115 SRW 10 11-6
11.1.6 SLD B2 1-7
117z SRD B 11-8
LL 2 e 11-10
d 2. L e 11-10
11.2.2 RLD B 11-10
11.2.3 RRD B2 11-12
11.2.4 RLDA CC1 1 32 11-13
11.2.5 RRDA CC1 1 32 11-14
................................................................................................ 12-1

L2 L e 12-1
122 12-2
12.3 FR 125
12.4 L L 12-7
125 LC BCD Lo, 12-8
12.6 R 12-9
12.7 S 12-10
12.8 SE 121
12.9 S 1213
1210 S S 1214
121 SF 1216
................................................................................................ 13-1

0 T PP 131
13.2 AW 7T LB 132
13.3 ow 7T LB e 133
134 XOwW “ 7T 0B 134
135 AD 27 3 136
13.6 oD 7 B 137
13.7 XOD “ T B 138
....................................................................................... 14-1

141 s 141
14.2 TAK 1 2 14-2
14.3 POP CPU. i 14-3
14.4 POP CPU. e 14-4
14.5 PUSH CPU 14-5
14.6 PUSH CPU e 14-6
14.7 ENT 14-7
14.8 LEAVE 14-7
14.9 INC L 14-8
1410 DEC L s 14-9
141 +AR1 1 L 14-10



Xiv

1412
1413
1414
1415

Al
A.2

B.1
B.2
B.3
B.4
B.5
B.6

+AR2 1 2 141
BLD 1412
NOP O s 1413
NOP 1 s 1413



“1’1

e AN

e ON

e XN

o AN(
° o]
e ON(
o X
o XN(

ccp2»

ccq2> <cqrr

“07’

1 0

“0,,

RLO

11



1-2

n o

NOT
SET
CLR
SAVE

FN
FP

RLO

RLO

RLO
RLO

RLO



1.2

<0 >=0 <=0 OV OS UO BR

A = & b B J
A< >
< > BOOL | O ML DTZC
cc = ceq=n
RLO i

==0 <>0 >0

BR cc1l |cco | ov 0S OR STA | RLO | /FC
X X X 1
e
A 110 11.0 <> §
A 111 1.0 “<17” ‘
-
= Q4.0 Q4.0 e Pe

F—

1-3



1.3

1-4

AN = & >
N< >
< > BOOL |l O ML DTC
cc >3 cc=>
RLO X3 7
e i ==0 <>0 >0
<0 >=0 <=0 OV OS UO BR
BR CC1 CCO oV (O] OR STA RLO /FC
X X X 1
-
A |10 11.0 ““0”” .,J
AN | 1.1 111 “<1”” %
= Q4.0 Q4.0 “0”|I|
J——




1.4

O & & >

< > BOOL

QO MLDTZC

& & 7 “1,,

RLO cc »3

<0 >=0 <=0 OV 0OS UO BR

==0 <>0 >0

STA RLO [EC

BR CC1 |CCO |ov (ON}] OR

ccq33 | ccn?>
o) 11.0 110 ! ‘ \ e ’
o 11.1 )
= Q4.0 Q4.0 1/

1-5



1.5

1-6

ON == 77

ON< >

< > BOOL

Il OMLDTZC

RLO cc >3

<0 >=0 <=0 OV OS UO BR

“011

==0 <>0 >0

BR ccifcco |ov Jos |oR STA | RLO |/FC
0 X X 1
O 110 11.0 1'{ qll.l <077
o 111 T
= Q4.0 Q 4.0 <17 H,f
L




1.6

X [ X9

BOOL

Il OMLDTZC

RLO

“1,,

<0 >=0 <=0 OV OS UO BR

“171

“11’

==0 <0 >0

BR cc1l [cco [ov 0s OR sTA | RLO | /FC
0 X X 1
T ?
X 11.0 11.0 —\ﬁ————?—-
X 11.1 114 ——F—— |___
- Q4.0 Q4.0 |ZI

1-7



1.7 XN “*

XN < >

BOOL

Il OMLDTZC

= & “0”
RLO (X3 9
cc ::0 <>0
>0 <0 >=0 <=0 OV OS UO BR
BR CC1 CCO oV (O] OR STA RLO /FC
0 X X 1
I
X 11.0 11.0 \
XN 11.1 11.1 \ %
<
= Q4.0 Sl

1-8




1.8

O = £ > = £ b B J
o)
(X3 O Y (X3 Y ® & Y
<<OR >>  <<AND ->
BR |cc1 |cco |ov |os [or [sta |Rrio |Irc
X 1 X
— .
M 10.1
A 10.0 1004 \
A M 10.0
10.2
o)
A 10.2
A M 0.3 M 10.0 \ \
M 0.3
o M 10.1 b ¢
= Q4.0

Q4.0 @

1-9



1.9  A( < 77

A(
A( == 7 RLO OR
7
BR |cc1 |cco |ov |os |or [sta | RO |irc
0 1 0
———
A(
o) 10.0 100 \ \
o) M 10.0 M 10.0
) —u
A(
(o) 10.2 10.2
o) M 10.3 \ M10.3
)
I
A M 10.1 M10.1 \
= Q4.0 Q4.0 @

1-10




1.10  AN( “*

AN(
AN( == RLO  OR
BR CC1 CCO0O | oV 0OS OR STA RLO /FC
0 1 0
1.11  O( **
O(
o( == ** RLO  OR
7
BR CC1 CCO oV oS OR STA RLO /FC
0 1 0

1-11




1.12 ON( “* 77

ON(
ON( == =~ RLO OR
7
BR |cc1[cco|ov |os |or |sta [RrO [/FC
0 1 0
1.13 X( “* i
X(
X( = 7 RLO OR
7
BR CC1 CCO oV oS OR STA RLO /FC
0 1 0

1-12




1.14 XN( “*

XN(

XN( <=

RLO

OR

BR

CC1

CCoO

ov

(ON]

OR

STA

RLO

/FC

1-13




1.15

1-14

) OR
RLO RLO

RLO ““AND 77 ““AND NOT 7z

U( (X3 7

UN( & & 7

O( (X3 7

ON( “ 7z

X( “ 7z

XN( “e 7z

BR CCl | CCO | OV oS OR STA RLO /FC
X 1 X 1

A(
(o] 10.0 10.0
0 M 10.0 M 10.0
)
A(
0 10.2 10.2
0 M 10.3 \J M10.3
} [
A M 10.1 M10.1 \

Q4.0 Q4.0 @




BOOL

| O M L D
=< > RLO
MCR =0 ““0”~ RLO
CCo | ov oS OR STA RLO /FC

[ L_T1

%

1.0

[ L_T1

[an QSN
—/

Q4.0

T\

Q -

1-15




1.17

1-16

R
R< >
< > BOOL | O M L D
RLO=1 MCR=1 R
“<0”” MCR =0
BR CC1 CCO oV (O] OR STA RLO /FC
0 X 0
A 11.0
S Q4.0 | | |
A 11.1 11.0 \ Q4.0 1.1
R Q4.0
T L .
1 1.0 | | | | 0 7L ;
1 :
1.1 LTl o Q4.0 P
1
0




1.18

S
S< >
< > BOOL | O M L D
RLO=1 MCR=1 S
“€1°” MCR =0
BR cc1l [cco [ov 0s OR STA | RLO | /FC
0 X 0
A 11.0
S Q4.0 T T T
A 111
R Q4.0 11.0 \ YMO 11.1
B I ) .
11.0 ; PL
1
11.1 ML 0 Q4.0 / /
A I .
Q4.0 0 — —

1-17




1.19 NOT RLO

NOT
NOT RLO
BR CC1 CCO ov 0S OR STA RLO /FC
1 X
1.20 SET RLO =1
SET
RLO SET RLO “€1=”
BR CC1 CCO oV oS OR STA RLO /EC
0 1 1 0
RLO
SET 1
= M10.0 [
= M15.4 1
= M16.0 1
CLR 0
= M104 0
= M10.2 0

1-18




1.21

CLR RLO =0

CLR

RLO CLR RLO

“0,,

BR CC1 [CCO | ov 0S OR

STA

RLO

/FC

RLO

ISET e B

- M10.0 1 .

= M15.1 1

= M16.0 1
| CLR [ il M

= M10.1 o A

= M10.2

1-19



1.22 SAVE RLO BR
SAVE
SAVE RLO BR IFC
BR “< > AND
SAVE BR BR
SAVE
ENO = BR RLO
BR CC1 | CCO | oV oS OR STA RLO /FC

1-20




1.23

FN
FN< >
< > | BOOL | O M L D RLO
RLO FN< > RLO “€1”” ““0*”
RLO=1
RLO
RLO
< > RLO““1”~
RLO “€1””
BR CC1 CCO oV OS OR STA RLO /EC
0 X X 1

1-21




1-22

RLO

i i~

>

Q40

1.0 OB1

FN

OBl

110 |1.0

I

M10 M1.0

R N

Q40 Q40

[ 1 [ 1

o= O = 0=

|1 l2ls3]alsle|l7]s8] 9]




1.24

FP
FP< >
< > BOOL | O M L D RLO
RLO FP < > RLO <<07~ 1>~
RLO=1
RLO
RLO
< > RLO““0*~
RLO “c1””
BR CC1 CCO oV oS OR STA RLO /EC

1-23




1-24

Y —

0 -
| 1.0 OB1
Q40
A 11.0 1.0 | | | | B I_g]
FP M1.0 M 1.0 | | | | | I—E}
- aw aw__ [ puilpn B
OB1 |+ |2 |3]a|s]6]7]s8] 9]




2.1

N N e

1 ACCuUl
2
2
2
2
2
RLO “<17~
16
32
32

2 ACCuU2

cC1

CCco

2-1



2.2 ? | 16
=] <> > <| >=| <=|
16 2 1
2 1 16
RLO RLO =1
“¢ 7 RLO=0 “e 7z CC1 CCo “
BR CCl |CCO | OV 0S OR STA RLO /FC
X X 0 0 X X 1
RLO
ACCU 2 > ACCU 1 | ACCU 2 = ACCU 1 | ACCU 2 < ACCU 1
RLO RLO RLO

== 0 1 0

<> | 1 0 1

>| 1 0 0

<| 0 0 1

>=| 1 1 0

<=| 0 1 1
STL
L MW10 /! MW10 16
L w24 /! w24 16
>| 1l 2 MW10 1 w24
= M20 1l MW10 > W24 RLO =1

2-2



2.3

?D

32

=D <>D >D <D >=D <=D

32 2 1
2 1 32
RLO RLO=1 “¢ 77 RLO
= “e 7z CC1 CcCo “ 7z oes 7z
BR CC1 | CCO oV oS OR STA RLO /FC
X X 0 0 X X 1
RLO
ACCU 2 > ACCU 1| ACCU 2 = ACCU 1| ACCU 2 < ACCU 1
RLO RLO RLO

== 0 1 0

<>D 1 0 1

>D 1 0 0

<D 0 0 1

>=D 1 1 0

<=D 0 1 1
STL
L MD10 /1 MD10 32
L D24 /1 D24 32
>D /1 2 MD10 1 D24
= M20 1l MD10 > ID24 RLO =1

2-3



2.4 ?R 32

=R <>R >R <R >=R <=R

32 IEEE-FP 2
1 2 32
IEEE-FP RLO RLO=1
“¢ 77 RLO=0 e 7 CC1

CCO cc >3 cc >3 cc >3

BR CCl |CCO oV OS OR STA RLO /FC
X X X X 0 X X 1
RLO
ACCU 2 > ACCU 1| ACCU 2 = ACCU 1| ACCU 2 < ACCU 1
RLO RLO RLO

== 0 1 0

<>R 1 0 1

>R 1 0 0

<R 0 0 1

>=R 1 1 0

<=R 0 1 1
STL
L MD10 Il MD10
L 1.359E+02 1l 1.359E+02
>R Il 2 MD10 1 1.359-E+02
= M20 /1 MD10 > 1.359E+02 RLO =1

2-4



3.1

BTI
ITB
BTD
ITD
DTB
DTR

INVI
INVD
NEGI
NEGD
NEGR

CAW
CAD

RND
TRUNC
RND+
RND-

BCD
16
BCD
16
32
32

BCD
16
BCD
32
32
BCD
32 IEEE-FP
16
32
16
32
32 |IEEE-FP
1 »»
16
32
1 32 IEEE

32

3-1



3.2 BTI BCD 16
BTI
BTI 3 BCD - 1
3 BCD 16
1 1 2
1 BCD  BCD 999-4999 0 11
BCD 15 BCD 0=
= 12 14 BCD
4 10- 15 BCDF
CPU ““STOP i OB121
BR cc1 |cco |ov 0S OR STA | RLO | /FC
STL
L Mw10 /I BCD 1
BTI /I BCD 1
T  MWw20 1 MW20
- g* =g 8 o5
A EN A
i B T R
15 B 7 [\
WA 110 | o0 oofl100 1|loo o0 1]0 0 1| 1915 BCD
BTI U BCD J
WA 20 | o0 0ofjoo 1 1)1 00 1|00 11 | "+915"

3-2




3.3 ITB 16 BCD
ITB
ITB 16 - 1
16 3
BCD 1 0-11 BCD
12 -15 BCD 0000 = 1111= 1
2
BCD -999 +999 oV
OS “1,’
RLO RLO
BR cc1i |cco |ov 0S OR STA | RLO | /FC
X X
STL
L  MWI10 1 1
ITB 1 BCD 16 1
T  MW20 I BCD MW?20
15, .0
M0 |1 1 1 1|1 1 1 o]lo 1 1 0lo o 1 1| "3
ITB B BCD [,
M¥20 |1 1 1 1|0 1 0 oJo o 0 1|0 0 1 1| "413'BCD
i, . . AP o
L b ¥ kil
. - 4 “in nge

3-3



3.4 BTD BCD 32
BTD
BTD 7  BCD _ 1
7 BCD 32
1 2
1 BCD BCD 9,999,999 - +9,999,999 0
27 BCD 31 BCD
0= = 28 30
BCD BCD 4 10 -15
BCDF CPU <<STOP ->
0OB121
BR cc1 [cco |ov |os OR |sta | RO |/FC
STL
L  MD10 /I BCD 1
BTD /I BCD 1
T  MD20 Il MD20
"y "ge "y ge =7 8- =3 g
31 16 15, 0
MO0 [oooolooooloootforotforvifrooojlootrojooo
BTD U BCD B "+157821"
MO20 loooolooooloooolootolorsoltooolorti)tio
"+157821"




3.5 ITD 16 32
ITD
ITD 16 32 1
16 32
1 2
BR CC1l |CCO | OV OS OR STA RLO /FC
STL
L MWi12 1 1
ITD 1 16 32 1
T MD20 1 MD20
MW12 =“*-10~"~ 16
1 1
31.. .. .. ..16 15.. .. .. ...0
ITD XXXX XXXX XXXX XXXX 1111 1111 1111 0110
TD 1111 111 1111 1111 1111 1111 111 0110
X=0 1

3-5



3.6 DTB 32 BCD
DTB
DTB 32 - 1
32 7
BCD 1 0-27 BCD 28
-31 BCD 0000 = 1111= 2
BCD -9999,999  +9,999,999
ov oS “<17”
BR cc1i | cco |ov 0S OR STA | RLO [ /FC
X X
STL
L MD10 I 32 1
DTB I 32 BCD 1
T MD20 I BCD MD20
3. 16 15 .0
MO0 11111ttt 1ttt 1111 o1loro0joe 1
DTB U BCD U "-701"
MD20 |1111|jooocoooocojoooojoooolo111jooo0a0lono0
& & "u" ruh 1ur Tu'l -r-lrr -|u-| -1|I
".701" BCD

3-6



3.7 DTR 32 32 IEEE-FP
DTR
DTR 32 32 IEEE 1
32 32 IEEE
32 32
1
BR CC1 | cco |ov oS OR STA | RLO [ /FC
STL
L  MD10 I 32 1
DTR 1 32 IEEE FP 1
T  MD20 1 BCD MD20
MD10 (oooOOQ0OOODOOODOOODOOOJOOD 1|1 11 |1:-1uc-|
U 32 IEEE 32 U "+500"
DTR
130, 2. .0
MO20 m1uunu1 111-111[:-1u|}uunnnnnnnnn{:un1}c-|
1\_ - i
w b i
1 8 23 "+500" [EE-FP

3-7




3.8 INVI 16
INVI
INVI 1 16
“0,’ ‘Ll” ‘Ll” “O’,
1
BR CC1l | CCO | OV oS OR STA RLO /FC
STL
L w8 1 1
INVI 1 16
T MWI10 1 MW10
1

15... .. . ...0
INVI 0110 0011 1010 1110
INVI 1001 1100 0101 0001

3-8




3.9 INVD 32
INVD
INVD 32
“O,’ “1” “l” “O’,
1
BR CC1l | CCO | OV oS OR STA RLO /FC
STL
L ID8 1 1
INVD 1
T MD10 1 MD10
1
31.. .. .. ..16 15... . .. ...0
INVD 0110 1111 1000 1100 0110 0011 1010 1110
INVD 1001 0000 o111 0011 1001 1100 0101 0001

3-9




3.10 NEGI 16
NEGI
NEGI 1 16
“0,’ ‘Ll” ‘Ll” “O’,
c<q>> 1
“<-17” CCl1 CCO OS ov
BR CC1l | CCO | OV oS OR STA RLO /FC
X X X X
CC1 CCO ov (ON)
=0 0 0 0
-32768 = =-1 0 1 0
32767 = =1 1 0 0

= 2768 0 1 1 1
STL
L IW8 1 1
NEGI 1 16
T MWI10 1 MW10

1

15.. ...0
NEGI 0101 1101 0011 1000
BEGI 1010 0010 1100 1000
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3.11

NEGD 32
NEGD
NEGD 1 32
“O,’ “1” “l” “O’,
B 1 “e.17
RLO RLO CC1 CCO OS
oV

BR CC1 | CCO | oV oS OR STA RLO /EC
X X X X
cCC1 CCO ov (ON)
=0 0 0 0
- 2,147,483,648 = =-11]0 1 0
2,147,483,647 = =1 1 0 0
= 2147,483 648 0 1 1 1
STL
L ID8 1 1
NEGD 1 32
T MD10 1 MD10
1 1
31.. .. .. ..16 15.. .. .. ...0
NEGD 0101 1111 0110 0100 0101 1101 0011 1000
TD 1010 0000 1001 1011 1010 0010 1100 1000

X=0 1
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3.12 NEGR 32 IEEE-FP
NEGR
NEGR 32 IEEE 1
32 |EEE-FP 1 31
1
BR_|cc1|cco|[ov |os |or |sSTA |[RLO [/FC

STL
L D8 I 1 ID 8= 15E+02
NEGR I 32  IEEEFP 1
T  MD10 Il MD10 =-1.5E+02
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3.13

STL

CAW

CAW

CAW

16

BR

CC1

CCO

ov

oS

OR

STA

RLO

/FC

L MW10
CAW
T MW?20

MW10

MW?20

CAW

O

o

CAW
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3.14

STL

CAD

CAD

CAD

32

BR

CC1

CCO

ov

oS

OR

STA

RLO

/FC

L MD10
CAD
T MD20

MD10

MD20

CAD

>

CAD
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3.15 RND

RND
RND 32 IEEE 32 1
32 IEEE 32 |IEEE-FP
32 IEEE 32
ov (ON)
“1’,
NaN 32
BR CC1 | CCO | oV oS OR STA RLO /EC
X X

STL
L  MD10 1 1
RND 1 32 IEEE FP
T MD20 1 MD20
MD10 = "100.5" => RND => MD20 = "+100"
MD10 = "-100.5" => RND => MD20 = "-100"
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3.16 TRUNC
TRUNC
TRUNC 32 IEEE 1
32 IEEE 32 IEEE
32 IEEE
“ 77 oV
OS “1’, 1
32
BR CC1 |CCO | oV oS OR STA RLO /EC
X X
STL
L  MD10 1 1
TRUNC 1 32 |IEEE-FP 32
1
T MD20 1 MD20
MD10 = "100.5" =>TRUNC => MD20 = "+100"
MD10 = "-100.5" =>TRUNC => MD20 = "-100"
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3.17 RND+

RND+
RND+ 32 IEEE 32 1
32 IEEE 32 IEEE
32
IEEE “e 7z ov
OS “1,’ 1
NaN 32
BR CC1 |CCO | oV oS OR STA RLO /EC
X X
STL
L  MD10 1 32 |IEEE-FP 1
RND+ 1 32 IEEE FP 32
T MD20 1
1 MD20
MD10 = "100.5" => RND+ => MD20 = "+101"
MD10 = "-100.5" => RND+ => MD20 = "-100"
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3.18 RND-
RND-
RND- 32 IEEE 32 1
32 IEEE 32 IEEE
32
IEEE “e 7z
ov (0N “€1” 1
NaN 32
BR CC1 | CCO | oV oS OR STA RLO /EC
X X
STL
L MD10 1 1
RND- 1 32 IEEE FP 32
1
T MD20 1 MD20
MD10 = "100.5" => RND- => MD20 = "+100"
MD10 = "-100.5" => RND- => MD20 = "-101"
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4.1

256

FR

LC

Cu
CD

STEP 7

16
CPU

BCD

CPU

CPU
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4.2 FR

FR < >

COUNTER Cc

CPU

RLO “011 “1,’

RLO “€1>”

BR CC1l |]CCO oV (ON]

OR STA RLO [EC

0 0
| st
A 120 Il 120
FR C3 /I RLO  <<0*>  <1°* c3
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4.3 L

L < >
< > COUNTER C CPU
1
1
BR cc1 |cco |ov 0S OR STA | RLO | /FC
| st
[L c3 I c3
- v 2v 2 2" 2" z r r r ¥ T
c3 | | | | | | |
S o
T
0 - 999
C3
oL rr | [ 1]
1 2" ™ 2™ 2% " @ 2 F P2 F 2 P F A
b A o
~ v
<07~ 0- 999
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4.4 LC BCD 1
LC < >
< > COUNTER C CPU
1 2
BCD 1
BR cc1 fcco |ov 0s OR STA | RLO | /FC
| s
[Lc c3 I c3 BCD 1
g g "M F P 2 - - S S GO L &
c3 [ || | | | | | | |
— —
v
0-999
LC z3
LC
c3 lo]oo]o | | | | | |
1 il Sl - L A - G- ol -l Sl S GO A 4
\ A A J
W W
“ 102 10* 10° W,
Y
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4.5

< > COUNTER C CPU
RLO=1
BR |cc1i|cco |ov Jos [or [sTtAa [RrRo [irc
0 0
| sTL
A 123 I 123
R C3 /I RLO ==0>* =177 c3  <<0”
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< > COUNTER Cc CPU

RLO “0,, “111 1
1 0-999 BCD

BR CC1 |CcCo |ov (ON] OR STA RLO [EC

0 0
STL
A 123 1 123
L C#3 1 ““37” 1
S C1 1 RLO  “<07~ ““17” C1

4-6



4.7 Cu

CU<K< >
< > COUNTER C CPU
RLO “0,, “1’, “1,’
“€999~~ “€999~~ RLO
oV
BR_|cc1 [cco |ov |os [or [sta [Rio |irc
0 0
| sTL
A 121 I 121
cu c3 /I RLO <077  =<17* c3  <=1°”
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4.8

CD

CDh<

< > COUNTER C CPU
RLO “0,, “1’, “1,’
“0,’ “O,, RLO
BR cc1 |cco|ov |os OR STA_|RLO | /FC
0 0
STL
L C#l4 I
A 1.1 I 10.1
s c1 I 1
A 10.0 " 10.0
CD C1 Il 10.0 RLO <<077  <-1°” ClL =-1°”
AN C1 Il c1 <<07”
= Q.0 I 1 <<07” Qo00=1
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5.1

OPN
CDB

L DBLG
L DBNO
L DILG
L DINO

OPN

Y A
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5.2

STL

OPN

OPN <

>

DB DI

1- 65535

BR

CcC1

CCo

ov

(ON]

OR

STA

RLO

[EC

OPN DB10

L
T

DBW35
Mw22

OPN DI20

L
|

5-2

DIB12
DBB37

1
1
1

1
1

DB10

DB20

35

12

MwW22

37




5.3 CDB
CcDB
BR CC1 | CCO | oV oS OR STA RLO /FC
54 L DBLG 1
L DBLG
1 2
1
BR CC1 | CcCco |ov oS OR STA RLO /FC
STL
OPN DB10 /! DB10
L DBLG /1 DB10
L MD10 /1
<D
JC ERRO /! MD10 ERRO
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55 L DBNO
L DBNO
1
BR CC1 |CCO | oV oS OR STA RLO /FC
5.6 L DILG 1
L DILG
1
BR CC1 |CCOo |ov oS OR STA RLO /FC
STL
OPN D120 /! DB20
L DILG /1 DB20
L MW10 /!
<1
JC /! MW10 ERRO




5.7

L DINO

L DINO

BR

CC1

CCO

ov

oS

OR

STA

RLO

/FC
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6.1

LOOP
4
S7-300 CPU 318-2

e JU
o JL

RLO
° JC RLO =1
e JCN RLO =0
e JCB RLO =1 BR
e INB RLO =0 BR
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6-2

JBI
JNBI
JO
JOS

Jz
JN
JP
JM
JPzZ
JMZ
JUuo



6.2 JuU
JU < >
< >
-32768 +32767
BR CC1 CCO oV (OS] OR STA RLO /FC

STL

All.0

Al1l2

JCDELE /! RLO=1 DELE

L MB10

INC 1

T MB10

JUFORW /1 FORW
DELE: LO

T MB10
FORW: Al 2.1 /1 FORW

6-3



6.3 JL
JL < >
< >
255
JuU
0-255 1
JL JL
Ju 1 “<0”” JuU
1 ceqg7n JU
JL JuU
JL JuU
BR CC1 CCO oV oS OR STA RLO /FC

STL

L MBO /! 1

JLLSTX /! 1 3

JU SEGO /! 1 0

JU SEG1 i 1 1

JU COMM 1l 1 2

JU SEG3 i 1 3
LSTX: JU COMM
SEGO: * /!

JU COMM
SEGL1.: *

JU COMM i
SEG3: *

JU COMM
COMM: = /!




6.4

JC

JC <

RLO=1

“1,’
-32768 +32767
<<0> RLO ccq=>
BR CC1 | CCO |oV (O] OR STA RLO [EC
0 1 1 0
STL
A 11.0
A 11.2
JC JOWR 11 RLO=1 JOVR
L w8 11
T MwW22
JOVR: A 12.1 I JOVR
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6.5 JCN RLO =0
JCN < >
< >
“0,,
-32768 +32767
ceq>
BR CC1 CCO oV oS OR STA RLO /FC
0 1 1 0
STL

A 11.0
A 11.2
JCN JOVR // RLO=0 JOVR
L W8 /!
T MwW22

JOVR: A 121

6-6
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6.6 JCB RLO=1 BR
JCB < >
< >
“1,’
-32768 +32767
““0~” RLO “€1*”
RLO BR RLO
BR CC1l CCO oV OS OR STA RLO /FC
X 0 1 1 0
STL
A 11.0
A 11.2
JCB JOVR /1 RLO=1 JOVR RLO BR
L W8 /1
T MW22
JOVR: A 12.1 1/ JOVR
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6.7 JNB RLO =0 BR
JNB <
< >
“0,’
-32768 +32767
“€1”” RLO “€1*”
RLO BR RLO
BR CC1l CCO oV OS OR STA RLO /FC
X 0 1 1 0
STL
A 11.0
A 11.2
JNB JOVR // RLO=0 JOVR RLO BR
L W8 /1
T Mw22
JOVR: A 12.1 1/ JOVR
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6.8

JBI BR=1
JBI < >
BR <<1°”

-32768 +32767

BR CC1 | CCO |oVv (O] OR STA

RLO

[EC
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6.9

6-10

JNBI BR=0
JNBI < >
< >
BR <<0~”
-32768 +32767
BR CC1l |CCO oV (ON] OR STA RLO [FC
0 1 0




610 JO  Ov=1
JO <
< >
OV “1”
-32768 +32767
JOS
BR ccifcco |ov |os [oR STA | RLO |/FC
STL
L MW10
L 3
*| /! MW10 “<3””
JO OVER /! ov=1
T MW10 /!
A M 4.0
R M 4.0
JU NEXT
OVER: AN M4.0 /! OVER
S M 4.0
NEXT: NOP 0 /! NEXT
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6.11 JOS OS =
JOS < >
< >
OS “1 77
-32768 +32767
BR CC1 CCO oV oS OR STA RLO /FC
0

STL

L IW10

L MW12

*|

L DBW25

+l

L MwW14

-1

JOS OVER /! 0Ss=1

T MW16 /!

A M 4.0

R M 4.0

JU NEXT
OVER: AN M4.0 /! OVER

S M 4.0
NEXT: NOP 0 /! NEXT

JO JO -l
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6.12

STL

JZ

JZ <

CC1l=0

CC0=0

-32768

+32767

BR

CC1

CCO

oV

(ON)

OR

STA

RLO

[EC

ZERO:

NEXT:

L MW10
SRW 1
JZ ZERO
L Mw2
INC 1
T MW2
JU  NEXT
L Mw4
INC 1
T Mw4
NOP 0

11
11

11

I

ZERO

NEXT

ZERO
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6.13 JN

JIN < >
< >
CC1 CCO CC1=0/CC0=1 CcC
1=1/CC0=0
-32768 +32767
BR CC1 CCO oV (OS] OR STA RLO /FC

STL

L W8
L MW12
XOW
JN  NOZE 1 1
AN M4.0 1
S M 4.0
JU  NEXT
NOZE: AN M4.1 1
S M4l
NEXT: NOP 0 1

6-14

cey>

NOZE

NEXT



6.14 JP

JP < >

CCl=1 CC0=0

-32768 +32767

BR CC1 | CCO |oV (O] OR STA RLO | /FC

STL
L w8
L Mw12
-l 1 W8 MW12
JPPOS 1 >0 1 “€0””
AN M4.0 /I
S M4.0
JUNEXT
POS: AN M4.1 /I POS
S M4.1
NEXT: NOP O 1 NEXT
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6.15 JM
IM <
< >
CC1l=0 Ccco=1
-32768 +32767
BR ccifcco |ov |os [oOR STA [ RLO | IFC
STL
L W8
L MW12
-1 /! w8 MW12
JM NEG 1/ <0 “<0~~
AN M /1
4.0
S M
4.0
JuU NEXT
NEG: AN M4.1 /1 NEG
S M4.1
NEXT: NOP O /1 NEXT
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6.16 JPZ

JPZ <
< >
cC1 CCo CC1=0/CC0=0 CC
1=1/CC0=0
32768  +32767
BR_ |cci1 |cco|ov [os |or |[stAa |RO |/FC
STL
L Iws
L MwI2
8y 1 Iws MW12
JPZ REGO Il =0 1 <<0””
AN M4.0 Il
S M40
JU  NEXT
REGO: AN M4.1 1 REGO
S M4l
NEXT: NOP 0 I NEXT
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6.17 JMZ

JMZ <
< >
CC1 CCO CC 1=0/CC 0=0 CcC
1=0/CC0=1
-32768 +32767
BR CC1 CCO oV (OS] OR STA RLO /EC
STL
L W8
L MW12
-1 i W8 MW12
JMZ RGEO /! =0 1 = ““0””
AN M 4.0 /!
S M 4.0
JuU NEXT
RGEO: AN M4.1 i RGEO
S M4.1
NEXT: NOP O /! NEXT
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6.18 JUO

JUO <
< >
CCl=1 CCo0=1
-32768 +32767
CCl=1 CCO0=1
[ ]
[ ]
[ ]
BR CC1 | CCO | oV (O] OR STA RLO [EC
STL
L MD10
L ID2
/D 11 MD10 ID2
JUO ERRO 11 ID2 =0
T MD14 11
A M 4.0
R M 4.0
JU  NEXT
ERRO: AN M4.0 11 ERRO
S M40
NEXT: NOP 0 11 NEXT
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6.19 LOOP

LOOP <

‘(.1,’

-32768

+32767

“0” 1

1 “0,’

BR

CC1

CCO | oV

(O8] OR STA RLO [EC

STL

L#1
MD20
NEXT: MW10
MD20

*x—m 4 - 4
o1

—

MD20
MW10
LOOP NEXT

-

L  MwW24
L 200
>|

6-20

1
1

1

1

1

1

1

32

MD20

NEXT

MD20

MB10
MD20

““0~~ 1 “€17”




7.1

CPU

32

16

16
16
16
16

+I

*|

/l

32

16

32
32
32

+D

*D
/D

32

32

MOD
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7.2

7-2

CcC1 CCoO oV (ON)
16 32
CC1 CCO ov 0S
0 0 0 0 *
16 -32 768= <0 0 1 0 *
32 -2 147 483 648 = <0
16 32767 = >0 1 0 0 *
32 2147 483647 = >0
* 0S
cCC1 Ccco ov (O]
0 0 1 1
16 =-65536
32 =-4294 967 296
0 1 1 1
16 <-32768
32 <-2147 483648
0 1 1 1
16 >32 767
32 > 2 147 483 647
1 0 1 1
16 >32 767
32 >2 147 483 647
1 0 1 1
16 <-32768
32 <-2147 483 648
0 1 1 1 1
CC1 Ccco ov oS
+D = -4294 967 296 0 0 1
/D MOD 0 1 1 1




7.3+l (16 ) 1 2

+1

16 + 1 2
1 1 2
16 RLO RLO

CCl1 CCO OS OV
16 32
CPU 2

4 CPU 3 2

4 3 4

BR CCl | CCO | OV 0S OR STA RLO /FC
X X X X
CCc1 CCO oV (O]
=0 0 0 0
- 32768 = <0 0 1 0
32767 = >0 1 0 0
=-65536 0 0 1 1
65534 = > 32767 0 1 1 1
-65535 = <-32768 1 0 1 1
STL
L W10 1l W10 1
L MwW14 /! 1 2 MwW14
1
+I 1 2 1 1

T DB1.DBW25 11 1 DB1 DBW?25



7.4 I (16 ) 2 1
-1
16 1 2 1
1 2
16 RLO RLO
CC1 CCO Os ov
16 32
CPU 2
4 CPU 3 2
4 3 4
BR CC1 | CCO | oV 0oS OR STA RLO /FC
X X X X
CC1 CCco oV oS
=0 0 0 0
- 32768 = <0 0 1 0
32767 = >0 1 0 0
65535 = > 32767 0 1 1 1
-65535 = <-32768 1 0 1 1
STL
L W10 i W10 1
L MW14 1/l 1 2 MW14
1
/! 2 1
1
T DB1.DBW25 i 1 DB1 DBW25
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7.5 *| (16 ) 1 2
*|
16 *| 2 1
1 2 16
32 1 ovi=1 0os=1
16
RLO RLO CC1 CCO0 OSs
oV
CPU 2
4 CPU 3 2
4 3
BR CC1 | CCO | oV oS OR STA RLO /FC
X X X X
CC1 CCo oV (O
=0 0 0 0
- 32768 = <0 0 1 0
32767 = >0 1 0 0
1073741824 = > 32767 1 0 1 1
-1073709056 = <-32768 0 1 1 1
STL
L W10 i W10 1
L MW14 i 1 2 MW14
1
*| /! 2 1 1
T DB1.DBD25 /! 1 DB1 DBW25
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76 (16 ) 2 1
/l
16 /l 1
1 2 16
1 16 1
1 RLO RLO
CC1 CCO Os oV
CPU 2 4
CPU 3 2 4
3 4
BR CC1 CCO (o)Y) OS OR STA RLO /FC
X X X X
CC1 CCO oV oS
=0 0 0 0
- 32768 = <0 0 1 0
32767 = 0 1 0 0
= 32768 1 0 1 1
1 1 1 1
STL
L IW10 /! IW10 1
L MW14 /! 1 MW14
1
/l 1 2
1 1 1
T MD20 i 1 MD20
13 4
2 W10 "13"
1 MW14 "4"
/1 2 / 1 "13/4"
1 "3"
1 "1"
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7.7 + 16 32
+ <
< > 16 32
+ < > 1
1
CPU 2
4 CPU 3 2
4 3 4
+ <16 > 1 16
-32768 - +32767 1
+ <32 > 1 32
-2,147 483,648 - +2,147,483,647 1
BR CC1 CCO oV (O] OR STA RLO /EC
1
STL
L IW10 1l W10 1
L MW14 1/ 1 2 MW14
1
+l /! 2 1 1
+ 25 i 1 “<257” 1
T DB1.DBW25 1l 1 DB1 DBW?25
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STL
L IW12
L W14
+ 100 I 1 “€1007~ 1
>| I 2 1 W12 >
IW14 + 100
JC NEXT 11 NEXT
3
STL
L  MD20
L MD24
+D 11 1 2 1
+  L#-200 I 1 “%-2007~
T MD28
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78 4D (32 ) 1 2
+D
32 +D 1 2
1 1 2 32
RLO RLO CC1
CCO OS oV
CPU 2
4 CPU 3 2
4 3 4
BR CC1 CCO (e)Y (O] OR STA RLO /FC
X X X X
CC1 CCO oV (O
=0 0 0 0
-2147483648 = <0 0 1 0
2147483647 = >0 1 0 0
=-4294967296 0 0 1 1
4294967294 = > 2147483647 0 1 1 1
-4294967295 = < -2147483648 1 0 1
STL
L ID10 /! ID10 1
L MD14 /! 1 2 MD14
1
+D i 2 1 1
T DB1.DBD25 i 1 DB1 DBD25
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79  -D (32 ) 1
-D
32 -D 2 1
1 1 32
RLO RLO CC1l CcCco
(OK] oV
CPU 2
4 CPU 3 2
4 3 4
BR CC1 CCO (e)Y (O] OR STA RLO /FC
X X X X
CC1 CCO oV (O8]
=0 0 0 0
-2147483648 = <0 0 1 0
2147483647 = >0 1 0 0
4294967295 = > 2147483647 0 1 1 1
-4294967295 = <-2147483648 1 0 1 1
STL
L ID10 i ID10
L MD14 i 1 2 MD14
-D /! 2 1 1
T DB1.DBD25 /! 1 DB1 DBD25
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7.10 *D (32 ) 1 2
*D
32 *D 2 1
1 2 32
1 ovi=1 0os=1 32
RLO RLO CC1l CCO Os
(@)Y,
CPU 2
4 CPU 3 2
4 3 4
BR CC1 |CCO | oV OS OR STA RLO /FC
X X X X
CC1 CCO oV oS
=0 0 0 0
-2147483648 = <0 0 1 0
2147483647 = >0 1 0 0
> 2147483647 1 0 1 1
<-2147483648 0 1 1 1
STL
L ID10 i ID10
L MD14 i 1 2 MD14
1
*D /! 2 1 1
T DB1.DBD25 /! 1 DB1 DBD25
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711 /D (32 ) 2 1

/D
32 /D 2 1
1 2 32
1 MOD
RLO RLO CC1l CCO OS

ov

CPU 2

4 CPU 3 2

4 3 4

BR CC1 | CCO | oV oS OR STA RLO /EC
X X X X
CC1 Ccco oV (ON]
=0 0 0 0
-2147483648 = <0 0 1 0
2147483647 = >0 1 0 0
= 2147483648 1 0 1 1
1 1 1 1
STL
L ID10 I ID10 1
L MD14 I 1 2 MD14
/D 11 2 1
T MD20 11 1 MD20
13 4
2 ID10 "13"
1 MD14 4"
/D 2 / 1 "13/4"
1 3"
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7.12

MOD 32
MOD
MOD 32 2
1 1 2 32
1 /D
RLO RLO CC1 CCO OS
oV
CPU 2
4 CPU 3 2
4 3 4
BR cc1|cco|lov [os |[or |sta |RrRLO |/FC
X X X X
cc1 cCo oV oS
=0 0 0 0
- 2147483648 = <0 0 1 0
2147483647 = >0 1 0 0
1 1 1 1
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STL

L ID10

L MD14

MOD

T MD20
13

7-14

1
I
I
I

MOD

ID10

PN =N

ID10
MD14

MD14

MD20

"3
g

"

"13/4"



8.1

CPU 4

4
IEEE 32

+R

*R
/R

N B NP

ABS
SQR
SQRT
EXP
LN
SIN
cos
TAN
ASIN
ACOS
ATAN

32

32

““REAL~~
IEEE

IEEE
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8.2

8-2

CC1 CCoO oV (ON)
32
CC1l |CCO | oV [ON)
+0 -0 0 0 0 *
-3.402823E+38 < < -1175494E-38 0 1 0 *
+1.175494E-38 < < 3.402824E+38 1 0 0 *
*0S
CC1l |CCo |ov (ON)
0 0 1 1
-1175494E-38 < < - 1401298E-45
0 0 1 1
+1.401298E-45 < < +1175494E-38
0 1 1 1
<-3.402823E+38
1 0 1 1
> 3.402823E+38
1 1 1 1




8.3

8.3.1

+R (32 |IEEE-FP) 1 2
+R
32 IEEE +R 1 2
1 1 2
32 |IEEE RLO RLO
CC1 CCO Os oV
CPU 2
4 CPU 3 2
4 4
1 CC1 CCO oV 0OS
+gNaN 1 1 1 1
+infinite 1 0 1 1
+normalized 1 0 0 -
+denormalized 0 0 1 1
+zero 0 0 0
-zero 0 0 0
-denormalized 0 0 1 1
-normalized 0 1 0
-infinite 0 1 1 1
-gNaN 1 1 1 1
BR CC1 | CCO | oV oS OR STA RLO /FC
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STL

OPN
L

L
+R
T

DB10

ID10 1 ID10

MD14 1 1
1 2
DBD25 1 1

32 IEEE
1
32 IEEE
CC1l CCO OSs

DB10

IEEE-FP)

ov
CPU
CPU

MD14

DBD25

cC1

CCO

o
<

(ON]

+gNaN

+infinite

+normalized

+denormalized

+Zero

-Z2ero

-denormalized

-normalized

-infinite

-gNaN

[l (=N (N (o3 (ek (ol ek L o

[l Ll Ll [ (o} (o (e} (el (e |

Rlrlolrlolollo|- |-




BR CC1 | CCO | oV oS OR STA RLO /FC
X X X X
STL
OPN DB10
L ID10 /1 ID10 1
L MD14 /1 1 2 MD14 1
-R /! 2 1
T DBD25 i 1 DB10 DBD25
833 *R (32  IEEE-FP) 1 2
*R
32 IEEE *R 2
1 1 2 32 |IEEE
32 |IEEE 1 RLO
RLO CC1 CCO OSs oV
CPU 2
4 CPU 3 2
4 3 4
1 CC1 CCO oV 0S

+gNaN 1 1 1 1

+infinite 1 0 1 1

+normalized 1 0 0

+denormalized 0 0 1 1

+zero 0 0 0

-Zero 0 0 0

-denormalized 0 0 1 1

-normalized 0 1 0

-infinite 0 1 1 1

-gNaN 1 1 1 1
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BR CC1 | CCO | oV oS OR STA RLO /FC
X X X
STL
OPN DB10
L ID10 /1 ID10 1
L MD14 /1 1 2 MD14 1
*R /! 2 1
T DBD25 i 1 DB10 DBD25
834 IR (32  IEEE-FP) 2
/IR
32 IEEE /R 2
1 1 2 32 |IEEE
32 |IEEE 1 RLO
RLO CCl1 CCO OSs oV
CPU 2
4 CPU 3 2
4 3
1 CC1 CCO oV 0OS

+gNaN 1 1 1 1

+infinite 1 0 1 1

+normalized 1 0 0

+denormalized 0 0 1 1

+zero 0 0 0

-Z€ero 0 0 0

-denormalized 0 0 1 1

-normalized 0 1 0

-infinite 0 1 1 1

-gNaN 1 1 1 1
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BR CC1l [ CCO [ov oS OR STA RLO

/FC

X X X X
STL
OPN DB10
L ID10 Il ID10 1
L MD14 Il 1 2 MD14 1
IR 1 2 1 1
T  DBD20 " 1 DB10  DBD20
8.35 ABS 32 IEEE-FP
ABS
ABS 32  IEEE 1
32 |EEE-FP 1
BR cci]cco |ov [os |OR STA | RLO | IFC
STL
L D8 1 1 ID8 = -15E+02
ABS Il 1
T  MD10 Il MD10 = 1.5E+02
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8.4

841 SOR 32
SQR
SQR 32 IEEE 1
32 IEEE-FP 1 cC
1 CCO oV (01
2 3 4 4
CPU
1 CC1 CCO oV 0S
+gNaN 1 1 1 1
+infinite 1 0 1 1
+normalized 1 0 0
+denormalized 0 0 1 1
+zero 0 0 0
-gNaN 1 1 1 1
STL
OPNDB17 1 DB17
L DBDO 1l DBDO 1
SQR 1l 1 32 IEEE FP 1
AN OV 1 oV “<07”
JC OK 1 SQR OK
BEU 1l SQR
OK: T DBD4 1l 1 DBD4
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8.4.2 SQRT 32
SQRT
SQRT 32 |IEEE 1
32 |IEEE-FP 1
‘EO,’ ‘E_O,’ “_o”
CC1 CcCco ov (O
2 3 4 4
CPU
1 CC1 CCO oV 0S
+gNaN 1 1 1 1
+infinite 1 0 1 1
+normalized 1 0 0
+denormalized 0 0 1 1
+zero 0 0 0
-Z€ero 0 0 0
-gNaN 1 1 1 1
STL
L MD10 i MD10 1
SQRT i 1 32 IEEE FP 1
AN OV 1l oV “<0*”
JC OK /! SQRT OK
BEU /1 SQRT
OoK: T MD20 /! 1 MD20
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843 EXP 32

EXP

EXP 32 IEEE

32 |IEEE-FP e
CC1 cCco ov 0S
2 3 4
CPU
1 CC1 CCO (0)Y] 0S
+gNaN 1 1 1 1
+infinite 1 0 1 1
+normalized 1 0 0
+denormalized 0 0 1 1
+zero 0 0 0
-gNaN 1 1 1 1
STL
L MD10 /! MD10 1
EXP 1 1 32 IEEE FP e
1
AN OV 1l oV “€07”
JC OK 1l EXP OK
BEU /! EXP
OK: T MD20 /! 1 MD20
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844 LN 32
LN
LN 32 IEEE 1
32 |IEEE-FP 1
““0~” CC1 CcCo ov (O]
2 3 4 4
CPU
1 CC1 CCO (0)Y] 0S
+gNaN 1 1 1 1
+infinite 1 0 1 1
+normalized 1 0 0
+denormalized 0 0 1 1
+zero 0 0 0
-Zero 0 0 0
-denormalized 0 0 1 1
-normalized 0 1 0
-infinite 0 1 1 1
-gNaN 1 1 1 1
STL
L ™MD10 // MD10 1
LN /1 1 (32 IEEE FP) 1
AN OV Il ov “€07”
JC OK /1 OK
BEU Il
OK: T MD20 // 1 MD20
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8.45 SIN 32

SIN
SIN 32 IEEE
1 1
CCl1 cCco ov (O] 2
4 4 CPU
1 CC1 CCO (0)Y] 0S
+gNaN 1 1 1 1
+normalized 1 0 0
+denormalized 0 0 1 1
+zero 0 0 0
-zero 0 0 0
-denormalized 0 0 1 1
-normalized 0 1 0
-gNaN 1 1 1 1
STL
L MD10 1l MD10 1
SIN /! 1 32 IEEE FP
T MD20 /! 1 MD20
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846 COS 32
({ON
({0 32 |IEEE
1
CC1 CcCco ov (O]
2 3 4
CPU
1 CC1 CCO oV oS
+gNaN 1 1 1 1
+normalized 1 0 0
+denormalized 0 0 1 1
+zero 0 0 0
-zero 0 0 0
-denormalized 0 0 1 1
-normalized 0 1 0
-gNaN 1 1 1 1
STL
L MD10 i MD10 1
COoSs /1 1 32 |IEEE FP
T MD20 1l 1 MD20
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84.7 TAN 32
TAN
TAN 32 IEEE
1 1
CC1 cCco ov (O]
2 3 4
CPU
1 CC1 CCO (0)Y] 0S
+gNaN 1 1 1 1
+infinite 1 0 1 1
+normalized 1 0 0
+denormalized 0 0 1 1
+zero 0 0 0
-Zero 0 0 0
-denormalized 0 0 1 1
-normalized 0 1 0
-infinite 0 1 1 1
-gNaN 1 1 1 1
STL
L MD10 1l MD10 1
TAN 1 1 32 IEEE FP
AN OV 1l oV “€07”
JC OK 1 TAN OK
BEU 1l TAN
OK: T MD20 1l 1 MD20
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84.8 ASIN 32
ASIN
ASIN 32 |IEEE
1l = = +1
TU/ 2 = 1 = +711/2 Tt=3.14159...
CC1l1 CCO ov (O
2 3 4
CPU
1 CC1 CCO oV 0S
+gNaN 1 1 1 1
+normalized 1 0 0
+denormalized 0 0 1 1
+zero 0 0 0
-zero 0 0 0
-denormalized 0 0 1 1
-normalized 0 1 0
-gNaN 1 1 1 1
STL
L MD10 /1 MD10 1
ASIN /! 1 (32 IEEE FP)
AN OV /! oV ““0*”
JC OK i ASIN OK
BEU i ASIN
OK: T MD20 1l 1 MD20
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849 ACOS 32

ACOS

ACOS 32 IEEE

1l = = +1
0 = 1 =TT Tt=3.14159...
CC1l1 CCO ov (O
2 3 4 4
CPU
1 CC1 CCO oV 0S
+gNaN 1 1 1 1
+normalized 1 0 0
+denormalized 0 0 1 1
+zero 0 0 0
-zero 0 0 0
-denormalized 0 0 1 1
-normalized 0 1 0
-gNaN 1 1 1 1
STL

L MD10 /1 MD10 1

ACOS /! 1 (32 IEEE FP)

AN OV /! oV ““0*”

JC OK i ACOS OK

BEU i ACOS

OK: T MD20 1l 1 MD20
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8.4.10 ATAN 32
ATAN
ATAN 32 |IEEE
T/ 2 = 1 = +711/2 7Tt=3.14159...
CC1 CCO ov (O]
2 3 4
CPU
1 CC1 CCO oV OS
+gNaN 1 1 1 1
+normalized 1 0 0
+denormalized 0 0 1 1
+zero 0 0 0
-Zero 0 0 0
-denormalized 0 0 1 1
-normalized 0 1 0 -
-gNaN 1 1 1 1
STL
L MD10 /1 MD10 1
ATAN i 1 (32 IEEE FP)
AN OV i oV “<0*”
JC OK i ATAN OK
BEU /! ATAN
OK: T MD20 /! 1 MD20
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9.1

L
CPU

e L
e LSTW
e LAR1AR2
e LAR1<D>
e LAR1
e LAR2<D>
e LAR2
o T
e TSTW
e TAR1AR2
e TAR1<D>
e TAR2<D>
e TAR1
e TAR2
e CAR

RLO

2
32
1
32
2
1
1
1
2
1
2
1

32
32
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9.2 L

L < >
< > BYTE E A PE M L 0...65535
WORD D 0...65534
DWORD 0...65532
1 2 1
“0,’ l
BR CC1 | cco |ov oS OR STA RLO /FC
STL
L IB10 /! IB10 1
L MB120 /! MB120
L DBB12 i DBB12
L DIW15 1l DIW15 1
L LD252 i LD252 1
L P#18.7 /! 1
L OTTO 1l ““OTTO>~ 1
L P# ANNA /! 1
AR2
1
1 1 1 1 1
XXX XX XXX XXX XX XXX XXX XX XXX XXX XX XXX
LMB10 L< > 00000000 00000000 00000000 <MB10>
LMWI10 L< > 00000000 00000000 <MB10> <MB11>
LMD10 L < > <MB10> <MB11> <MB12> <MB13>
L P# ANNA <86> < ANNA
>
AR2
L P# ANNA <ANNA >
X= “*1>> *“<0*~
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9.3 L STW 1
L STW
L STW STW 1
S7-300 CPU LSTW FC STA  OR
1 456 7 8 1
BR |cc1 |cco|ov |[os [or |[sta [riO |irc
| sTL
[L sw Il 1
L STW 1
31-9 | 8 7 6 5 4 3 2 1 0
0 BR [cc1i|ccolov |os |or [sm |rio |/ec
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9.4

LAR1 1 1
LAR1L
1 32 AR1
1 2
BR_|cc1fcco|ov |os |orR |STA [RLO [/FC




9.5 LAR1 <D> (32 ) 1
LAR1 <D>
<D> DWORD D ML 0...65532
<D> AR1
1 2
BR |cc1|cco|ov |os [or |sta [ro [/rc
STL
LARL  DBD20 I DBD20 AR1
LARL  DID30 I DID30 ARL
LARL  LDI180 I LD180 AR1
LARL  MD24 I MD24 ARL
| sTL
| LARL  P#m100.0 7/ 32 ARL
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9.6 LAR1 AR2 1
LAR1 AR2
AR2  LAR1 AR2
AR1 1 2
BR CC1 | CCO |ov oS OR STA RLO /FC
9.7 LAR2 1 2
LAR2
1 32 AR2
1 2
BR_[cc1]ccolov |os |or |sTA |RO [/FC
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9.8 LAR2 <D> (32 ) 2

LAR2 <D>

<D> DWORD D ML 0...65532

<D> AR2
1 2
BR |cc1|cco|ov |os [or |sta [ro [/rc

STL
LAR2  DBD 20 I DBD20 AR2
LAR2  DID 30 I DID30 AR2
LAR2 LD 180 I LD180 AR2
LAR2  MD 24 I MD24 AR?2
| sTL
| LAR2  P#m100.0 7/ 32 AR2
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T< >
< > BYTE I Q PQ M L |0..65535
WORD D 0...65534
DWORD 0...65532
MCR =1 1
MCR =0 ““0~*” 1
1
110 PQ
““0”” MCR=0 Q
BR CC1 CCO oV (OS] OR STA RLO /FC
| sTL
T QBI10 1 1 QB10
T  MwWl4 1 1 MW14
T DBD2 1 1 DBD2
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9.10 T STW 1
TSTW
T STW STW 1 0 8
BR |cc1i|cco|ov [os [|or |sta |rio |/kc
X X X X X X X X X
| sTL
[T stw 1 0 8
1
31-9 | 8 7 6 5 4 3 2 1 0
*) BR |cci]lccolov [os Jor |sma |rio [/rc
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9.11 CAR 1 2
CAR
CAR ARl  AR2
AR2
AR1
BR [cci|cco|ov |os [OrR |STA |RLO |I/FC
9.12 TAR1 1
TARL
AR1 1 32
1
BR |cci|cco|ov |os [OrR |STA |RLO |I/FC
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9.13 TAR1 <D> 1 (32 )
TAR1 <D>
<D> DWORD D M L 0...65532
AR1 <D>
MD LD DBD
DID
1 2
BR cc1 |cco |ov 0S OR STA | RLO [ /FC
STL
TAR1 DBD20 Il AR1 DBD20
TAR1 DID30 Il AR1 DID30
TAR1 LD18 Il AR1 LD18
TAR1 MD24 /I AR1 MD24
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9.14 TAR1 AR2 1 2

TAR1 AR2

AR2 TAR1 AR1
AR2

1 2

BR CC1l [ CCO | ov oS OR STA RLO /FC

9.15 TAR2 2 1

TAR2

AR2 1 32

BR CC1l |]CCO oV (ON] OR STA RLO [EC
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9.16 TAR2 <D> 2 (32 )
TAR2 <D>
<D> DWORD D ML 0...65532
AR2 <D>
MD LD DBD
DID
2
BR CC1 | CcCOo |ov (O] OR STA RLO [EC
STL
TAR2 DBD20 11 AR2 DBD20
TAR2 DID30 11 AR2 DID30
TAR2 LD18 1 AR2 LD18
TAR2 MD24 11 AR2 MD24
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10

10.1

BE
BEC
BEU
CALL
CC
uc

MCR
MCR

MCR( RLO MCR

)MCR MCR

MCRA MCR

MCRD MCR

MCR
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10.2 BE

BE
MCR RLO
S5 S7 BEU
BR CC1 | CCO | oV oS OR STA RLO /EC
0 0 1 0
STL
A 110
JC  NEXT 1 RLO=1 110=1 NEXT
L w4 I
T W10
A 16.0
A 16.1
S M 12.0
BE 1
NEXT: NOPO I
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10.3 BEC

BEC
RLO=1
MCR
RLO (=1) RLO=0 RLO
ccq>
BR CC1 CCO oV 0OS OR STA RLO /FC
X 0 1 1 0

STL
A 110 /1 RLO
BEC i RLO =1
L W4 i BEC RLO=0
T MW10
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10.4 BEU

BEU
MCR RLO
BR CC1 | CCO | oV oS OR STA RLO /EC
0 0 1 0

STL

A 110

JC NEXT 11 RLO=1 110=1 NEXT

L W4 11

T IW10

A 16.0

A 16.1

S M 12.0

BEU 11
NEXT: NOP 0 11
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10.5

CALL

CALL < >

FC SFB SFC
SFB
FC SFC FB SFB RLO
FB SFB
SFB/SFC

CALLFB1 DB1 CALL FILLVAT1 RECIPE1

FC CALL FCn

SFC CALL SFCn

FB CALL FBnl1,DBn2

SFB CALL SFBnl1,DBn2
STL Editor n nl n2
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106

FB SFB FC SFC
IN OUT IN_OUT
FC SFC
FB SFB
DB1 DBW2
IN ouT IN_OUT
MA
B MCR
BR CC1l |Ccco [ov 0s OR STA | RLO | /FC




1 FC6
CALL  FC6
NO OF TOOL := MW100
TIME OUT = MW110
FOUND = Q01
ERROR '= Q100.0
2 SFC
| sTL
| cALL  sFca3 I SFC43
3 DB1 FB99
CALL  FB99 DBL
MAX_RPM = #RPML_MAX
MIN_RPM = #RPML
MAX_POWER := #POWER1
MAX_TEMP = #TEMPL
4 DB2 FB99
CALL  FB99 DB2
MAX_RPM = #RPM2_MAX
MIN_RPM = #RPM2
MAX_POWER := #POWER?
MAX_TEMP = #TEMP2
FB SFB
DBl  DB2
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10.6

CALLFBn1 DB nl

FB
RLO
IN OUT IN_OUT
DB1 DBW2
IN ouTt IN_OUT
B MCR

BR CC1l [ CCO [ov oS OR STA RLO /FC
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1 DB1 FB99
CALL FB99 DB1
MAX_RPM 1= #RPM1_MAX
MIN_RPM = #RPM1
MAX_POWER 1= #POWER1
MAX_TEMP 1= #TEMP1
2 DB2 FB99
CALL FB99 DB2
MAX_RPM 1= #RPM2_MAX
MIN_RPM 1= #RPM2
MAX_POWER 1= #POWER2
MAX_TEMP 1= #TEMP2

FB

DB1

DB2
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10.7

CALLFCn

STL Editor ““n~”

RLO

10-10

FC FC

IN OUT IN_OUT

ouTt IN_OUT

MA
MCR



BR cc1 [cco |ov |os OR STA | RLO | /FC
0 0 1 0
FC6
CALL FC6
NO OF TOOL := MW100
TIME OUT := MW110
FOUND = Q0.1
ERROR := Q100.0
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10.8

CALLSFBnl DB n2

SFB
SFB RLO
IN OUT IN_OUT
DB1 DBW2
IN ouTt IN_OUT
MA
B MCR
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BR CC1 CCO (e)Y (O] OR STA RLO /FC
0 0 1 0
CALL SFB4 DB4
IN: 0.1
PT: T#20s
Q: MO0.0
ET: MW10
SFB4
DB4
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10.9

CALL SFCn

STL Editor ““n””?

SFC
SFC RLO
IN OUT IN_OUT
IN ouTt IN_OUT
MA
B MCR

BR CC1 | CCO | oV oS OR STA RLO | /FC

SFC
| stL

| cALL  sFca3 I SFC43
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10.10

CALL #

BR

CC1

CCO

ov

oS

OR

STA

RLO

/FC

10.11

SIMATIC
[ ]

CPU

““Standard Library
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10.12 CC

CC< >
RLO=1 FC
FB CcC CALL
MA B MCR
BR CC1 CCO oV 0S OR STA RLO /FC
0 0 1 1 0
STL
A 12.0 /1 120
CC FC6 i 120 “<17” FC6
A M 3.0 i 120=1 120=0 Al2.0
CALL FB SFB
CcC

CALL

Program Editor
uc cC
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10.13 UC
UC < >
FC SFC
uc CALL
MA B MCR
BR |cc1i|cco]ov [os Jor [sta [roo [/rc
0 0 1 0
1
| sTL
| uc Fcs I FC6
2
| sTL
| uc sFcas I SFC43
CALL FB SFB
uc
Program Editor
uc cc
CALL

10-17



10.14 MCR

MCR
A MCR
MCR
MCR
° =< >
° S< >
° R< >
e T< > T< > T< >
MCR “<0”" T ““07” S
= ““0*”
MCR MCR
MCR =< > S< > R< > T< > T<
T< >
0 <> ccg7>
cege-
1
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MCR( -

MCRA -

MCR )MCR -
MCR 1 8
MCR MCR(

JMCR
MCR(  )MCR

MCR

MCR MCRD -
MCRA  MCRD

MCR

MCR

MCR

MCRA

RLO

)MCR

MCRA
MCRA-MCRD

FC

ccq=»

MCR
1
MCR( 8
MCRF
MCRD
MCR
FB  MCR
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10.15

> P

10-20

MCR
MCRA
. MCR MCR(  )MCR T =
“0”
. MCR( RLO =0 MCR
PLC STOP
VAR_TEMP
PLC STOP
. STRUCT UDT ARRAY STRING FC
. 2 IN_OUT STRUCT UDT ARRAY
STRING FB
. 2 8180.0
. 2 BLOCK_DB DBO
CPU <<STOP > T0O CO FCO  FBO

TIMER COUNTER BLOCK_FC BLOCK_FB

LAD/FBD

. FBD T RLO=0
MCR

1. MCRD

2. MCRA




10.16 MCR( RLO MCR MCR
MCR
MCR(
MCR( MCR RLO MCR
MCR MCR MCR( )MCR
MCR(  )MCR
RLO=1 MCR MCR MCR
RLO=0 MCR
MCR MCR
MCR
MCR =< > S< > R< > T< > T< >
T< >
0 <<0>” ccq>>
ccg=>
1
MCR(  )MCR 8 8
MCR( MCR

MCRF
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BR cc1i |cco |ov os | OR STA | RLO | IFC
0 1 0
STL
MCRA Il MCR
A 110
MCR( /' RLO MCR MCR RLO=1 11.0==*1""
MCR RLO=0 [10==0"" MCR
A 14.0
= Q80 7 MCR Q8.0 “<0>> 140
L MW20
T QW10 1 MCR 0>  QWI0
)MCR 1 MCR
MCRD 1l MCR
A 111
= Q81 ! MCR MCR
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10.17 )MCR MCR
MCR
)MCR
)MCR MCR MCR
MCR MCR <177
MCR(  )MCR )MCR
MCR MCRF
BR |cc1|ccolov |os |or [sta [RrLO |/FC
0 1 0
STL
MCRA I MCR
A 110
MCR( /I RLO MCR MCR RLO=1 110=%<1""
MCR RLO=0 11.0==0"" MCR
A 140
= Q80 11 MCR Q8.0 <<0** 140
L MWwW20
T  QWI0 1 MCR <<0”” QW10
)MCR 1 MCR
MCRD 11 MCR
A 111
= Q81 11 MCR MCR
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10.18 MCRA MCR

MCR
MCRA
MCRA MCR
MCRA MCRD MCRA
MCRD MCR

BR CC1 |CCO | oV oS OR STA RLO | /FC

STL

MCRA 1l MCR

A 110

MCR( /' RLO MCR MCR RLO=1 [10=°1""
MCR RLO=0 [10==0"" MCR

A 14.0

= Q80 7 MCR Q8.0 “<0>> 140

L MW20

T QW10 ! MCR “<0>> QW10

)MCR Il MCR

MCRD 1 MCR

A 111

= Qs1 1l MCR MCR
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10.19 MCRD MCR

MCR
MCRD
MCRD MCR
MCRD MCRA MCRA
MCRD MCR

BR CC1 |CCO | oV oS OR STA RLO /EC

STL

MCRA 1l MCR

A 110

MCR( /' RLO MCR MCR RLO=1 110=%1""
MCR RLO=0 [10==0"" MCR

A 14.0

= Q80 1l MCR Q8.0 “<0>> 140

L MW20

T QW10 ! MCR “<0>> QW10

)MCR Il MCR

MCRD 1 MCR

A 111

= Qs1 7 MCR MCR
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11

11.1

1111

1
“CPU >
‘53,’ 3
<<157>
“4”
2
“1,’ €« & E
CC1
e SSI 16
e SSD 32
e SLW 16
e SRW 16
e SLD 32
e SRD 32

CC1

‘5241,

“07’ cc >3

CCoO oV

111



11.1.2 SSI 16

SSI
SSI < >
< > 0 15
SSI 1
15
CC1 < > 2
SSI < > < > 0-15
> “0,, CC O OV “0,, < >
““0”~ NOP
SSI 2 0
255 16 ACCU1 =16#0000 CC1 =
0 ACCUl1=16#FFFF CC1l=1 ““0~~
CCO oV ““0~*” ““0*”
NOP
BR CC1 | cco |ov oS OR STA RLO /FC
X X X - -
1 1
31.. .. .. ..16 15... .. .. ...0
SSI 6 0101 1111 0110 0100 1001 1101 0011 1011
SS| 6 0101 1111 0110 0100 1111 1110 0111 0100
1
STL
L MW4 1/ 1
SRW 6 i 1 6
T MW8 /1 MW8
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STL
L +3 i ““+37” 1
L MW20 /1 1 2 MW20
1
SRW /! 2 => 1
3
JP  NEXT 1l cCCi1 =1 NEXT
11.1.3 SSD 32
SSD
SSD < >
< 0 32
SSD 1
ccC
1 < > 2
SSD < > < > 0-32 <
> “01’ CC 0 OV “0,’ < >
““0”~ NOP
SSD 2 0-
255 32 ACCU 1 =32#00000000
CC1l1=0 ACCU 1 = 32#FFFFFFFF CC1 =1 ““07”
CCoO ov ““0~~ ““07~
NOP
BR CC1 | CCO | oV 0oS OR STA RLO /FC
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1 1
31.. . . .16 15... y . ...0
SSD 7 1000 1111 0110 0100 0101 1101 0011 1011
SSD 7 1111 1111 0001 1110 1100 1000 1011 1010
1
STL
L MD4 11 1
SSD 7 11 1 7
T MD8 11 MD8
2
STL
L +3 11 ““+37” 1
L MD20 11 1 MD20
1
SSD I 2 => 1
3
JP  NEXT 11 CC1 = NEXT
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11.1.4 SLW 16
SLW
SLW < >
< > 15
SLW 1
“0” CC 1
< >
SLW < > < > 0-15 <
> “0,’ CC 0 OV “0,’ < >
““0”~ NOP
SLW 2 0-
255 16 ACCU1-L=0 CC1=0
CcCCo0=0 ov=0 16 CCo ov
““0~~ ““0~~ NOP
BR CC1 CCO oV oS OR STA RLO /FC
X X X
1
31.. .. .. ..16 15... .. .. ...0
SLW 5 0101 1111 0110 0100 0101 1101 0011 1011
SLW 5 0101 1111 0110 0100 1010 0111 0110 0000
1
STL
L MwW4 /1 1
SLW 5 1l 1 5
T MW8 i MW8
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STL
L +3 i ““+377
L MW20 /! 1 2 MW20
1
SLW /1 2 => 1
3
JP  NEXT 1/l CcCCl1 =1 NEXT
11.1.5 SRW 16
SRW
SRW < >
< > 0 15
SRW 1
“<0~~ CC1
< >
SRW < > < > 0-15 <
> ““0*” CCO ov ““0”~ < >

““0~” NOP

SRW 2 0-

255 16 ACCU1l-L=0 CC1=0

CcCCo0=0 ov=0 16 CCO oV

“O,, “0,, NOP
BR CC1 CCO (e)Y OS OR STA RLO /FC
X X X

116



1 1
31.. .. .. .16 15... .. .. ...0
SRW 6 0101 1111 0110 0100 0101 1101 0011 1011
SRW 6 0101 1111 0110 0100 0000 0001 0111 0100
1
STL
L MW4 i 1
SRW 6 i 1 6
T MW8 i MW8
2
STL
L +3 i ““+377 1
L MW20 i 1 2 MW20
1
SRW /! 2 => 1
3
SPP NEXT i cCCl1 = NEXT
11.1.6 SLD 32
SLD
SLD < >
< > 0 32
SLD
“O” CC 1
< > 2
SLD < > < > 0-32 <
- cc=> CcCo oV c<q=> < -
““0~” NOP
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SLD 2 0-
255 32 ACCU1l-L=0 CC1l=0
cco=0 ov=0 32 CCO ov
“O” = ‘0’ Ed NOP
BR CC1 CCO oV OS OR STA RLO /FC
X X X
1 1
31.. . .. ..16 15... . .. ...0
SLD 5 0101 1111 0110 0100 0101 1101 0011 1011
SLD 5 1110 1100 1000 1011 1010 0111 0110 0000
1
STL
L MD4 i 1
SLD 5 /! 1 5
T MD8 /! MD8
2
STL
L +3 /! ““+377 1
L MD20 /! 1 2 MD20
1
SLD i 2 => 1
3
JP  NEXT i cCCi1 =1 NEXT
11.1.7 SRD 32
SRD
SRD < >
< > 0 32
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SRD

“<0”” CCl1
< > 2
SRD < > < > 0-32 <
> ccg7> cC o oV <cg>> < >
“<0”” NOP
SRD 2 0-
255 32 ACCU1-L=0 CC1=0
CCo=0 ov=0 32 CCOo oV
“<07” ““0”” NOP
BR CC1 |CCO | oV 0OS OR STA RLO /FC
X X X
1 1
31.. . .. ..16 15... . .. ...0
SRD 7 0101 1111 0110 0100 0101 1101 0011 1011
SRD 7 0000 0000 1011 1110 1100 1000 1011 1010
1
STL
L MD4 /! 1
SRD 7 1l 1 7
T MD8 i MD8
2
STL
L +3 i ““+37” 1
L MD20 i 1 2 MD20
1
SRD /! 2 = 1
3
JP  NEXT i CCl1 =1 NEXT
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11.2

11.2.1
““CPU 7z 14.1
CC1 CCO ““0*”
e RLD 32
e RRD 32
e RLDA CC1 32
e RRDA CC1 32
11.2.2 RLD 32
RLD
RLD <
< > 32
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RLD 1
1
CC1 < >
2
RLD < > < >
0 -32 < > “<0~~ cco ov
<> < > e NOP
RLD 2
0 - 255 2 ““0~~ CCo ov
e e e
NOP
BR CCl | CCO | oV oS OR STA RLO /FC
X X X
1
31.. . . .16 15... . . ...0
RLD 4 0101 1111 0110 0100 0101 1101 0011 1011
RLD 4 1111 0110 0100 0101 1101 0011 1011 0101
1
STL
L MD2 /1 1
RLD 4 Il 1 4
T MD8 1l MD8
2
STL
L +3 1 “+37” 1
L MD20 1 1 2 MD20
1
RLD /1 2 => 1
3
JP  NEXT Il CCl1 =1 NEXT
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11.2.3 RRD 32
RRD
RRD < >
< > 0 32
RRD 1
1
CC1 < >
2
RRD < > >
0 -32 < > ““0~” CcCoO oV
“0,, < > “O” NOP
RRD 2
0_255 2 “0,’ “0,’
BR CC1 | cco |ov oS OR STA RLO /FC
X X X
1
31.. .. .. ..16 15... .. .. ...0
RRD 4 0101 1111 0110 0100 0101 1101 0011 1011
RRD 4 1011 0101 1111 0110 0100 0101 1101 0011
1
STL
L MD2 I/l 1
RRD 4 /! 1 4
T MD8 /1 MD8
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STL

L +3 /! ““+37” 1

L MD20 /1 1 2 MD20

1
RRD /1 2 = 1
3
JP  NEXT /! cCCi1 =1 NEXT
11.2.4 RLDA CC1 1 32
RLDA
1 CC1 1
cCco oV ““0~~
BR CCl [ cCco |ov oS OR STA RLO /FC
X 0 0
CC1 1 1
31.. .. .. .16 15... .. .. ...0
RLDA X 0101 1111 0110 0100 | 0101 1101 0011 1011
RLDA 0 1011 1110 1100 1000 | 1011 1010 0111 011X
X=0 1 CC1

STL

L MD2 i MD2 1

RLDA i 1 CC1 1

JP  NEXT i cCCi1 =1 NEXT

1113




11.2.5 RRDA CC1 1 32
RRDA
1 1 CCo
OV “O’,
BR CC1 |CCO | oV oS OR STA RLO /FC
X 0 0
CC1 1 1
31... . . ..16 15... . . ...0
RRDA X 0101 1111 0110 0100 | 0101 1101 0011 1011
RRDA 1 X010 | 1111 1011 0010 | 0010 | 1110 1001 1101
X=0 1 CCi1
STL
L MD2 i MD2 1
RRDA 1l 1 cCC1 1
JP  NEXT /! cCi1 =1 NEXT
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12

12.1

FR

LC

SD
SE
SF
SP
SS

BCD
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12.2

CPU
16 256 CPU
[ ]
° CPU RUN
“O”
0 9
““0~~ - BCD
o  W#I16#txyz
- t=
- Xyz =
e S5T#aH bM _cS dMS
- H= M= S= MS= a b cd
9,990 2H 46M_30S 2 46 30

122



12 13
10 ms 10 s
10 00
100 01
1 10
10 11
2h46m30s 2 46 30
2h10ms S5TIME
0.01 10 -9 990
0.1 100 -1 39 900
1 1 - 16 39
10 10 - 2 46 30
1 1 0
- BCD
12 13
1 127 1
15... .8 7.. .0
x|x|]1]olo]lo|o] 1lo]o] 1] ofo]1] 1] 1
% \_ ~ _A_ ~ A ~ _J
1 7
N J
Y
1 BCD 0-999

11
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10.0

Q 4.0

Q4.0

Q4.0

Q 4.0

Q4.0

E— [

SP_PULSEg [

W

—

SE_PEXT —I

.
- 1 "

SD_ODT
a——

SS ODTS

SF_OFF DTgl

—

124

ceq»» ceg>>

SP_PULSE ““1”” t
ccqg=> ceq2s
SE_PEXT B e B
SD_ODT ““17”
ccqg7> ceq2s
SS_ODTS “€0”> =177
ccq=»
SF_OFFDT “€17” ““17”




12.3 FR
FR < >
< > TIMER T CPU
RLO “0’, “1”
FR RLO “0,’ “1’,
RLO =1
BR CC1 CCO oV oS OR STA RLO /FC
0 0
STL
A 12.0
FR T1 /! T1
A 121
L S5T#10s /! 1 10
SI T1 i T1
A 12.2
R Tl i T1
A Tl /! T1
= Q4.0
L T1 /! T1
T MW 10
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12.0

RLO

121

RLO

12.2

L

=t et

o~

RLO é
4.0
Q40 7

LC

RLO

RLO

RLO

RLO

RLO

RLO
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12.4 L 1
L < >
> TIMER T CPU
1 2
BR_[cc1|cco |ov |os |OR [STA |RLO |/EC
STL
LTL " T1 1
FA il Sl L A i S S M S S S S S M &
no | 1| | ||
e, -
0-999
00=10ms
01=100ms Tl
10=1s
11=10s
LTL
|| | | | ||
1 -l A L - S - - - a3
' P —
Y v
c<g> 0 - 999
1
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12.5 LC BCD 1

LC< >

< > TIMER T CPU

- BCD 1

BR CC1 | CCO |oVv (O] OR STA RLO | /FC

STL
LC T1 /1 T1 - BCD
Il el S S A A S S R R S G S A &
A [T T T TTrT rTTrT T r T orTra
T S —
0 - 999
00=10ms
01=100ms LC T1
10=1s
11=10s BCD
LC
T1 ojofo]o | 1 | | 1 ||
1 Al - S L A L S - - SR ol SR SR - M o
. " W il
10? 10t 10°
M A
"'h,‘.'_,r"
(BCD )
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12.6 R

R < >
< > TIMER T CPU
RLO “0,’ “1”
BR CC1 CCO oV (OS] OR STA RLO /FC
0 0
| sTL
A 121
R T1 I 121 RLO <<07" <<17~ T1
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12.7 SP

SP < >
< > TIMER T CPU
RLO  <<0°” cep2s
RLO=1 RLO
“<0”” BCD
1
BR CCl |cCco |ov (OS] OR STA RLO /FC
0 0
STL
A 12.0
FR T1 /1 Tl
A 12.1
L S5T#10s /! 1 10
SP T1 /1 Tl
A 12.2
R T1 /1 Tl
A Tl /1 T1
= Q4.0
L Tl /! T1
T MW10
LC T1 /1 T1 BCD
T MW12
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12.0
121 _9 [
12.2
C“‘_t_"l ﬁ ; /
Q4.0 =
L LC M J\
t=
12.8 SE
SE < >
< > TIMER T CPU
RLO <<0”*  <<1°”
RLO ““0*~
RLO <<0”>  <<1~”
BCD 1
BR |cc1lccolov los [or [sta |RO | /Fc
0 0
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STL

A 120
FR T1 Il T1
A 121
L S5T#10s 1 1 10
SE T1 7 T1
A 122
R T1 7 T1
A T1 ! T1
= Q40
L T1 7 T1
T  MWIO
LC T1 1l T1 BCD
T Mwi12
12.0
121
12.2
Q 4.0
L LC
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12.9 SD

SD < >
< > TIMER T CPU
RLO “0,’ “1”
RLO=1 RLO
<> BCD

BR CC1 | CCO |oVv (O] OR STA RLO | /FC

STL
A 120

FR T1 ! T1

A 121

L S5T#10s ! 1 10

sD T1 Il T1
A 122

R T1 Il T1

A T1 7 T1

= Q4.0

L T1 1l T1

T  MWIO

LC T1 Il T1 BCD
T  Mwi2
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12.0

. ?ﬂu Q?

et — l*t*I’_PZ\
Q4.0 l

12.10 SS
Ss < >
< > TIMER T CPU
RLO <<0”> =<1”” RLO
<07~ RLO
cegrs  seqpes
BCD 1

BR CC1l | CCO |oV (ON] OR STA RLO [FC
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STL

FR

= - 4 r o
5 II)>IJ)>% >

12.0
T1 Il T1

121

S5T#10s 1 1 10

T1 7 T1
12.2

T1 7 T1

T1 Il T1

Q 4.0

T1 Il T1

MW10

T1 7 T1 BCD
MW12

12.0

I2.2£

Q4.0 i [ M / }/

e INCINIINC I
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12.11 SF

SF < >
< > TIMER CPU
RLO  <<1°” <cq>>
RLO=0 RLO
“€1”” BCD
1
BR CC1l [cCco |ov (O] OR STA RLO /FC
0 0

STL
A 12.0
FR T1 i T1
A 121
L S5T#10s i 1 10
SF T1 /! T1
A 12.2
R Tl /! Tl
A Tl i T1
= Q4.0
L Tl i Tl
T MW10
LC T1 /! T1 BCD
T MW12
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13

13.1

o AW

e OW
e XOW
e AD

e OD

e XOD

16
2
2
2
1
““07” CC1
CC1 ““07~
< 77 16
R T
ce > 16
<< 22 39
77 32
“ 77 32

32

cep2»

‘50,,

131



13.2 AW “« 7716
AW
AW < >
< > WORD 1 < 7
16
16
(X3 1 Y (X3 1 Y l
1 2 3 4 4
CPU CCl1 ““07”
cCl=1 CCO oV ““0~*”
AW 2
AW < > 16
BR CC1 |CcCco |ov oS OR STA RLO /FC
X 0 0
15... .. .. ...0
AW 1 0101 1001 0011 1011
2 16 1111 0110 1011 0101
AW 1 0101 0000 0011 0001
1
STL
L W20 /1 W20 1
L W22 /! 1 2 W22
1
AW i 1 2 i
1
T MW 8 /! MW8

13-2




2

STL
L W20 /1 W20 1
AW W#16#0FFF /1 1 16 0000_1111 11111111 €< 7z
1
JP  NEXT /1 ““0’> CC1=1 NEXT
13.3 ow “€ 7716
ow
OW < >
< > WORD 1 cc =23
16
(X3 7 l 2
16
“€17” “€1*” 1
1 2 3 4 4
CPU RLO RLO
CC1 ““0~” cCCl=1
cCco oV ““0”~
ow 1 2
oW < > 1 16
BR CC1 |CCO | oV OS OR STA RLO /FC
X 0 0
15... .. .. ...0
ow 1 0101 0101 0011 1011
2 16 1111 0110 1011 0101
ow 1 1111 0111 1011 1111
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STL
L w20 I W20
L w22 I 1 2 W22
1
ow I 1 «
1
T  Mws I MW8
2
STL
L w20 I W20
OW W#16#OFFF I 1 16 0000_1111 1111 1111 “< *~
1
JPNEXT I <0’ cCc1=1 NEXT
13.4 XOW 77 16
XOW
XOW <
< > WORD 1 “
16
& kA 1
2 16
<17 <17 1
1 2 CC1
0’7 CcC1l=1 cco ov “<0””
.
XOow 1 2
XOW < 1 16
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BR CCl | CCO | OV 0S OR STA RLO /FC
X 0 0
15... .. .. ...0
XOW 1 0101 0101 0011 1011
2 16 1111 0110 1011 0101
XOW 1 1010 0011 1000 1110
1
STL
L W20 Il W20 1
L w22 /1 2 D24
1
XOW Il 2 “c i
T Mw8 Il Mw8
2
STL
L W20 /1 W20 1
XOW16#0FFF Il 16 0000_1111 1111 1111 “«
. 1
JP  NEXT Il ““0’” CC1=1 NEXT
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13.5 AD “e 77 32
AD
AD < >
< > WORD 1 “e 7
32
cc w3 1 2
32
X3 1 7 = & 1 > 1 2
3 4 4 CPU
CCl1 ““0”” CCi1=1 CcC
O OV “o’,
AD 1 2
AD < > 1 32
BR CC1l |cco |ov oS OR STA RLO /FC
X 0 0
31... . . .. . . .. ...0
uD 1 0101 | 0000 | 1111 | 1100 | 1000 | 1001 | 0011 | 1011
2 32 1111 | 0011 | 1000 | 0101 | 0111 | 0110 | 1011 | 0101
ubD 1 0101 0000 | 1000 | 0100 | 0000 | 0000 | 0011 | 0001
1
STL
L ID20 // ID20 1
L ID24 /! 1 2 ID24
1
AD /1 1 2 “c 7
1
T MD8 Il MD8
2
STL
L ID 20 /1 ID20 1
AD DW#16#0FFF_EF21 /I 1 32 0000_1111_1111 1111 1110_
1111 0010_0001 €< 7z 1
JP  NEXT /1 ““0’” CC1=1 NEXT
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13.6 oD “« 77 32
oD
OD< >
< DWORD 1 e
32
® & 7 1 2
32
“1,, “1,, 1
3 4 4 CPU
CC1 ““07~ CCl=1
CCO ov ““0~”
oD 1 2
OD < > 1 32
BR CC1 | cco |ov oS OR STA RLO /FC
X 0 0
31... | .. . . .. . . ...0
oD 0101 0000 | 1111 | 1100 | 1000 | 1001 | OO11 | 1011
2 32 1111 0011 | 1000 | 0101 | 0111 | 0110 | 1011 | 0101
oD 1 1111 0011 | 1111 | 1101 | 1111 (0111 f 1011 | 1111
1
STL
L ID20 /! ID20 1
L D24 /! 1 2 D24 1
oD /1 1 2 e 77 1
T MD8 /1 MD8
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2

STL
L ID20 /1 ID20 1
OD DW#16#0FFF_EF21  // 1 32 0000_1111_1111 1111 1110_
1111 0010_0001 i 1
JP  NEXT /1 ““0’” CC1=1 NEXT
13.7 XOD “ 77 32
XOD
XOD < >
< > DWORD 1 “ 7z
32
“e 7z 1 2
32
“€1*” “€1”” 1
2 CC1 ““0~”
cC1l=1 CCO oV ““0*”
®= & k4 “1”
“1’,
XOD 1 2
XOD < > 1 32
BR CC1 CCO oV 0S OR STA RLO /FC
X 0 0
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31.. | .. 3 . . . . .0
XOD 0101 | 0000 | 1111 | 1100 | 1000 | 0101 | 0011 | 1011
2 32 1111 | oo11 | 1000 | 0101 [ o111 | o110 | 1011 | o101
XOD 1 [1010 | o011 |om1 [1001 | 1111 | 0011 | 1000 | 1110
1
STL
L ID20 Il ID20 1
L D24 I 1 2 ID24
1
XOD I 1 2 o
1
T MD8 " MD8
2
STL
L ID20 I ID20 1
XOD DW#16#OFFF_EF21 /I 1 32 0000 1111 1111 1111 1111
1110_0010_0001 < e 1
JP  NEXT I 0> cC1=1 NEXT
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14

14.1

TAK
PUSH
PUSH
POP
POP

ENT
LEAVE
INC
DEC

+AR1
+AR2

BLD
NOP 0O
NOP 1

CPU
CPU
CPU
CPU

141



14.2 TAK 1 2
TAK
2
CPU 3
BR CcC1 cCo oV OS OR STA RLO /FC
STL
L MW10 /1 MW10 1
L MW12 // 1 2 MwW12
1
>| /! 2 (MW10) 1
(MW12)
SPB  NEXT 1 2 (MW10) 1 (MW12)
NEXT
TAK /! 1 2
NEXT: -l /1 1 2
T MW14 /1 (= MwW14
1 2
TAK <MW12> <MW10>
TAK <MW10> <MW12>

14-2




14.3 POP CPU

POP
2 1
2
BR [cc1 [cco |ov |os [or |[sta |RLO [ /FC
STL
T MD10 1 1 = A MD10
POP 1l 2 1
T MD14 /! 1 = B MD14
1 2
POP A B
POP B B
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14.4 POP CPU
POP
2 1 3
2 4 3 4
BR CC1 CCO oV 0S OR STA RLO /FC

STL
T MD10 1l 1 = A MD10
POP I 2 1
T MD14 1 1 = B MD14

POP A B Cc D

POP B c D D
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14.5 PUSH CPU
PUSH
1 2
1
BR CCl [ CCO | OV OS OR STA RLO /FC
| stL
L MW 10 1/l MW 10 1
PUSH i 1
1 2
PUSH <MW10> <X>
PUSH <MW10> <MW10>
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14.6 CPU
3 4
1 2
BR CC1l | CCO | OV oS OR STA RLO /FC
STL
L MWIO I MW10 1
PUSH I 1 2
3
1 3 4
PUSH A B Cc D
POP A A B C
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14.7 ENT
ENT
3 4 2
3 ENT
3
STL
L  DBDO I DBDO 1
L DBD4 l 1 2 DBD4
1
+R 1 1 2 32 [EEEFP
1
L DBDS8 Il 1 2 DBD8
1
ENT l 3 4 2
3

L DBD12 1 DBD12 1
R 1 2 1 1

3 2 4 3
IR l 2 DBDO + DBD4 1 DBDS -

DBD12 1
T DBD16 I 1 DBD16
14.8 LEAVE
LEAVE
3 2 4
3 LEAVE
1 4
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14.9 INC 1
INC <8
<8 > 8 1
0 - 255
1
1 1
16 32 1
16 +D
BR CC1 CCO oV oS OR STA RLO /FC
STL
L MB22 i MB22
INC 1 /Il <= 1 MB22 1~
T MB22 /! 1 MB22

148




14.10 DEC 1
DEC <8
<8 > 8
0 - 255
1 8
1 1 2
16 32 1
16 +| +D
BR CC1l JCCO oV oS OR STA RLO /FC
STL
L MB250 /! MB250
DEC 1 /I << 1
T MB250 i 1 MB250
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14.11 +AR1 1 1
+AR1
+AR1 <P#Byte Bit>
<P#Byte.Bit> 1
16 24
24 1 1 ID
24 25 26
+AR1 16
-32768 - +32767
+AR1 <P#Byte.Bit> <P#Byte.Bit>
BR cc1 [cco |lov |os [or sTA [ RO | /FC
1
| sTL
L +300 M 1
+AR1 Il 1 16
2
| sTL
| +AR1  P#300.0 m 300.0 1

1410




14.12 +AR2 1 2

+AR2
+AR2 <P#Byte.Bit>

<P#Byte.Bit> 2
1 2
16 2 2
24 2 2 ID
24 25 26
+AR2 2 16 1
-32768 - +32767
+AR2 <P#Byte.Bit> <P#Byte.Bit>

BR CC1 [CcCO |ov (ON] OR STA RLO /EC

1
| sTL
L +300 I 1
+AR1 I 1 16 2
2
| sTL
| +ARL  P#300.0 I 30.0 2
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14.13 BLD

1412

BLD < >

BLD

0-255

PG

> BLD

FBD

BR

cCc1

CCO |ov (ON]

OR

STA

RLO

/EC




14.14 NOPO

NOP 0
NOP 0 0
16 <0°” PG
BR |cc1i|cco |ov [os [or [sta [RO |/FC
14.15 NOP1
NOP 1
NOP 1 1
16 =17~ PG
BR CC1 | CCO oV oS OR STA RLO [FC
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Al
+ + 16 32
) )
+AR1 +AR1 AR1 1
+AR2 +AR2 AR2 2
+D +D 32 1
2
-D -D 32 2
1
*D *D 32 1
2
/D /D 32 2
1
?D ?D 32 == < > < >=
<=
+| +| 16 1
2
-l - 16 2
1
*| * 16 1
2
/1 /| 16 2
1
?1 2?21 16 == < > < >=
<=
+R +R 32 |IEEE-FP
1 2
-R -R 32 |IEEE-FP
2 1
*R *R 32 |IEEE-FP
1 2
IR /IR 32 |IEEE-FP
2 1
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?R ?R 32 == <> > <
>= <=

ABS ABS 32 IEEE-FP

ACOS ACOS 32

ASIN ASIN 32

ATAN ATAN 32

AUF OPN

BE BE

BEA BEU

BEB BEC

BLD BLD

BTD BTD BCD 32

BTI BTI BCD 16

CALL CALL

CALL CALL

CALL CALL

CcC CcC

CLR CLR RLO =0

COS COS 32

DEC DEC 1

DTB DTB 32 BCD

DTR DTR 32 32
IEEE-FP

ENT ENT

EXP EXP 32

FN FN

FP FP

FR FR FR C 0- C 255

FR FR

INC INC 1

INVD INVD 32

INVI INVI 16

ITB ITB 16 BCD

ITD ITD 16 32

L L /

L DBLG L DBLG / 1

L DBNO L DBNO / 1

L DILG L DILG / 1

L DINO L DINO / 1

L STW L STW / 1




L L 1
0- 255
LT32
L L 1
0 - 255 LC
15
LAR1 LAR1 1 1
LAR1 LAR1 32
1
LAR1 LAR1 2 1
LAR2 LAR2 2 1
LAR2 LAR2 32
2
LC LC BCD 1
0 - 255
LC C 15
LC LC BCD 1
0 - 255
LCT32
LEAVE LEAVE
LN LN 32
LOOP LOOP
MCR( MCR( RLO MCR MCR
)MCR )MCR MCR
MCRA MCRA MCR
MCRD MCRD MCR
MOD MOD 32
NEGD NEGD 32
NEGI NEG| 16
NEGR NEGR 32 IEEE-FP
NOP 0 NOP 0
NOP 1 NOP 1
NOT NOT RLO
o p P—
o o i
oD oD < 732
P, oy PP
ON( ON( P
ow ow < >v 16
POP POP POP
POP POP CPU
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POP POP CPU

PUSH PUSH CPU

PUSH PUSH CPU

R R

R R 0-255
RC15

R R 0-255
RT32

RLD RLD 32

RLDA RLDA CC1 1 32

RND RND

RND+ RND+

RND- RND-

RRD RRD 32

RRDA RRDA CC1 1 32

S S

S S 0-255
SC15

SA SF

SAVE SAVE RLO BR

SE SD

SET SET

Sl SP

SIN SIN 32

SLD SLD 32

SLW SLW 16

SPA JU

SPB JC RLO=1

SPBB JCB RLO =1 BR=1

SPBI JBI BR=1

SPBIN JNBI BR =0

SPBN JCN RLO =0

SPBNB JNB RLO =0 BR=1

SPL JL

SPM JM

SPMZ JMZ

SPN JN

SPO JO ov=1

SPP JP

SPPZ JPZ

SPS JOS 0S=1




SPU JUO
SPz JZ
SOR SOR 32
SQRT SQRT 32
SRD SRD 32
SRW SRW 16
ss ss
SSD SSD 32
ssl ssi 16
sV SE
T T
T STW T STW 1
TAD CAD 1 32
TAK TAK 1 2
TAN TAN 32
TAR CAR 1 2
TARL TAR1L 1 1
TAR1 TAR1 1 32
TAR1L TAR1L 1
2
TAR2 TAR2 2 1
TAR2 TAR2 2 32
TAW CAW 1 16
TDB CDB
TRUNC TRUNC
U A <« >
U( Al << 2>
uc uc
uD AD << 22 3y
UN AN <« v
UN( AN( << 22
UW AW << > 1p
" ” PP—
X( X( <« v
XN XN < >
XN( XN( < >
XOD XOD <« 22 3
XOW XOW << v 1
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ZR CD
yAY, CcuU
A.2
+ + 16 32
) )
+AR1 +AR1 AR1
+AR2 +AR2 AR2
+D +D 32
2
-D -D 32
1
*D *D 32
2
/D /D 32
1
?D ?D 32 = <> > < >=
<=
+l +l 16 1
- - 16 2
1
*| * 16 1
/1 /l 16 2
1
21 21 16 == <> > < >=
<=
+R +R 32 |IEEE-FP
1 2
-R -R 32 |IEEE-FP
2 1
*R *R 32 |IEEE-FP
1 2
/IR /IR 32 |IEEE-FP
2 1




?R ?R 32 = <> > <
>= <=

A U P

A( U( < >

ABS ABS 32 IEEE-FP

ACOS ACOS 32

AD UD < 77 32

AN UN “c 77

AN( UN( < 77

ASIN ASIN 32

ATAN ATAN 32

AW uw < 77 16

BE BE

BEC BEB

BEU BEA

BLD BLD

BTD BTD BCD 32

BTI BTI BCD 16

CAD TAD Change Byte Sequence in ACCU 1 (32-bit)

CALL CALL

CALL CALL

CALL CALL

CAR TAR 1 2

CAW TAW Change Byte Sequence in ACCU 1-L
(16-bit)

CC CC

CD ZR

CDB TDB

CLR CLR RLO =0

COS COS 32

CcuU yAY,

DEC DEC 1

DTB DTB 32 BCD

DTR DTR 32 32
IEEE-FP

ENT ENT

EXP EXP 32

FN FN

FP FP

FR FR FR C0O-C 255
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FR FR
INC INC 1
INVD INVD 32
INVI INVI 16
ITB ITB 16 BCD
ITD ITD 16 32
JBI SPBI BR=1
JC SPB RLO =1
JCB SPBB RLO =1 BR=1
JCN SPBN RLO =0
JL SPL
JM SPM
JMZ SPMZ
JN SPN
JNB SPBNB RLO =0 BR=1
JNBI SPBIN BR =0
JO SPO ov=1
JOS SPS 0S=1
JP SPP
JPZ SPPZ
JU SPA
JUO SPU
JZ SPZ
L L /
L DBLG L DBLG / 1
L DBNO L DBNO / 1
L DILG L DILG / 1
L DINO L DINO / 1
L STW L STW / 1
L L
0- 255

LT32

L L 1
0 - 255 L C
15

LAR1 LAR1 / 1 1
LAR1 <D> LAR1<D> / 32

1
LAR1 AR2 LAR1 AR2 / 2 1
LAR2 LAR2 / 2 1




LAR2 <D> LAR2 <D> 32
2
LC LC BCD 1
0 - 255
LC C 15
LC LC BCD 1
0 - 255
LCT32
LEAVE LEAVE
LN LN 32
LOOP LOOP
MCR( MCR( RLO MCR MCR
JMCR JMCR MCR
MCRA MCRA MCR
MCRD MCRD MCR
MOD MOD 32
NEGD NEGD 32
NEGI NEGI 16
NEGR NEGR 32 |IEEE-FP
NOP 0 NOP 0
NOP 1 NOP 1
NOT NOT RLO
O ®) e 77
of of -
oD OD “< 77 32
ON ON “ 77
ON( ON( “< 7
OPN AUF
ow oW “< 77 16
POP POP POP
POP POP CPU
POP POP CPU
PUSH PUSH CPU
PUSH PUSH CPU
R R
R R 0-255
R C 15
R R 0-255
RT32
RLD RLD 32
RLDA RLDA CC1 1 32
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RND RND
RND- RND-
RND+ RND+
RRD RRD 32
RRDA RRDA cc1 1 32
S S
S S 0-255
sci5
SAVE SAVE RLO BR
SD SE
SE sV
SET SET
SF SA
SIN SIN 32
SLD SLD 32
SLW SLW 16
SP S
SOR SOR 32
SQRT SQRT 32
SRD SRD 32
SRW SRW 16
Ss ss
SSD SSD 32
ssl ssl 16
T T
T STW T STW 1
TAK TAK 1 2
TAN TAN 32
TAR1L TAR1L 1
TAR1 TAR1 32
TAR1 TAR1L 1
2
TAR2 TAR2 2 1
TAR2 TAR2 2 32
TRUNC TRUNC
uc uc
" " PP
X( X( PP
XN XN < -
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XN( XN( ° >z
XOD XOD “ 77 32
XOW Xow ° 7> 16
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AW cc 33

ow cc 33

CD Cu

S R

NOT RLO

FP

+|

/1

>

>=| <=|

A AN cc 33cc »>

O ON cc 33cc »>

INC 1

BE BEC

L T /

SE




B.2

B-2

START S1 STOP S2
START S3 STOP S4
S5
-
" W % ) b " h . N X |
W% % R -l""- % L L - i
IRRRRRRAT SRR .
{\ e
\ % Sl|o S3 o
MOTOR_ON \ - | s2 i) sS4 O
““STEP 7 7
1.1 S1 11.181
11.2 S2 11.252
11.3 S3 11.3S3
11.4 S4 11.4 54
11.5 S5 11.585
Q4.0 MOTOR ON Q 4.0 MOTOR ON
@) 111 @) S1
@) 113 @) S3
S Q4.0 S MOTOR_ON
o 112 o S2
o 114 o S4
ON 115 ON S5
R Q4.0 R MOTOR ON




11 1
13
4.0
12 11
14
15
4.0

PEB1 PEB2

PEB2 T

PEB1

Qao[_—= ] T g
NGRS

W,

Q4.1
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““STEP 7

1 10.0 PEB1 10.0 PEB1
2 1.1 PEB2 10.1 PEB2
0 4.0 RIGHT Q 4.0 RIGHT
Q4.1 LEFT Q 4.1 LEFT
1 M .0 PMB1 M 0.0 PMB1
2 M.1 PMB2 M 0.1 PMB2
A 10.0 A PEB1
FP M .0 FP  PMB1
AN 1.1 AN  PEB2
S Q4.1 S LEFT
A 10.1 A PEB 2
FP M .1 FP PMB?2
AN 10.0 AN  PEB1
S Q4.0 S RIGHT
AN 10.0 AN  PEB1
AN 1.1 AN  PEB?2
R Q4.0 R RIGHT
R Q4.1 R LEFT
STL
A 1 00 Il 10.0 <077 <<17” 10.1
FP M 0.0 <<0”>
AN | 01
S Q 41
A 1 01 Il 101 “cgr e<17” 10.0
FP M 01 <<0””
AN 1 0.0
S Q 40
AN | 0.0 Il
AN | 01
R Q 40
R Q 41
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B.3

STL

S7-300

1:

1

u T1

L S5T#250ms
SV T1

NOT

BEB

L MB100

INC 1

T MB100

T1

I

1
11
11
11
I
I

T1

250 ms T1

T1

MB100

MB100

RLO

- 250 MS —

‘(.1,’

AN T1
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RLO

]

- 250 ms —a

250 msRLO “<0”~ BEC
MB100 “€17”
MB100 250 ms

0>1>2>3>..>254>255->0>1..

MB100
MB100 [ 1]
M 100.0 2.0 0.5s 250 ms__““177250ms__“<07]
M 100.1 1.0 1s 05s <“177/0.5s “<07”
M 100.2 0.5 2s 1s_ <177 1s__“<0*”
M 100.3 0.25 4s 2s <177 2s <<0”
M 100.4 0.125 8s 4s <177 4s =<0~
M 100.5 0.0625 16s 8s “<177/8s <07~
M 100.6 0.03125 32s _16s__ “<177/ 16s <07
M 100.7 0.015625 64s _32s  “<177/32s <07
STL
A M10.0 I M 100 =1 1Hz
A M100.1
= Q40
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MB 101

[ms]

250
250
250
250
250
250
250
250
250
250
250
250
250

10

12

1 M1011

MB 101

=1MT=11s=1Hz

0

M 101.1

1.25s 1.5s

250 ms 05s0.75s 1s

0
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B.4

1 1
2
2
5
® ® o - ©
I
50% 90%
(Q 12.0) (Q12.1) (Q 15.2) (Q 15.3) (Q 15.4)
1120 100 1121
—— ——
L ] » L ]
1 | 2
2
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STL

A
Cu

CD

AN

N

C1

C1

C1

50

C1

Q 4.2

90

Z1
100

Q4.4

I
I
I
11
11
11
I
I
I
I
11
11

I
I
11

I
1
I

1
I

1
c1 ceqs
2
C1i “<17”
T
<<qe>
50
50 *~
90
90 -~
100

Q4.4
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B.5

MD4 = ((IW0 + DBW3) x 15)/ MW2

STL
L EWO 11 W0 1
L  DB5.DBW3 11 DBS DBW3
2
+l | 0.1 I 1
1
L +15 11 +15 1
*| 11 2
1
L  MW2 11 Mw2
2
/l I 2
1
T MD4 11 MD4
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B.6

BCD [ ]
BCD
l =
lmfzmﬁ-‘f:iﬁﬁij* | )}
I 4 4
1 |_.J:- 7_ 0
Q4.0 xxxx ) 0001 | 1001 0001] wo
| B0 = - [:}] =
L___.: 10.7
10.7
120 113
114 117
10.0 10.3
Q 4.0
STL
A T1 1/
= Q 4.0 /!
BEC I T1
L WO
AW W#16#0FFF 1l 10.4 10.7 ““0””
[ ] BCD 1
OW W#16#2000 [ ] 1 12 13
A | 0.7
SE T1 I/l T1
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